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Basic Knowledge and Introduction

Accounting Equation

Double Entry System for Assets, Liabilities and Capital
Double Entry System for Stock

Double Entry for Expense, Income and Profit or Loss
The Trial Balance

Profit and Loss Account and Balance sheet

The Principles and Rules of Accounting

Book of Original Entry (Cash Book)

Petty Cash Book

Exercises
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BOOK KEEPING AND ACCOUNTING (Level - 1)
Basic Knowledge

326(gd pcdespyp: $& edloggp:

Book-keeping  1s the systematic recording in their books of account of the
business transaction of a business. This recording and keep-
ing work of the account book is called as Book-keeping.

(8:req:096c$:008961 pSc§3E:8Eqp arSeanqoSypiod aosSedEeor
00 C:00330050€ 05d0MP0d20:000g:08 Galoopdi)
Accounting Is the process of identifying, measuring, summarizing, recording

and communicating economic tranactions. It is also inferpreting
their effect on the affairs of a business.

(3:@=Gq=n?5am5q105qp=m'ﬁ mq‘]’[:mm@@o:ﬁ&l G?S:ﬂ}d@&l QGtﬂ&mSEE&I
¢odooniaonsfglisé sondogubeorgéiod(qdoopdi cpbes:aBeadypiedlogé mof:
200566p0deEP:03c0d: 3EQENS 3280luSq E:cué: cedlgen:ansh)

Hssets i1s all the properties of a business and two type of assets
are tangible assets and intangible assets.

(cpdehiondeaigeaiteanogabiqpiamiag: qPse qpiopaagaopbiodiondodtoged
gjqeo0n assets sSodCogudejeae o assetsupd () g fioopds

0000000000 00000000000000¢ un:«']fa PUGD 0000000000900 00000000000060
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Tangible assets include land and buildings, plant and machinery, fixtures and
fittings office furniture, stock, investment, debtors and cash.

Intangible assets include goodwill, pantents, copyrights and trademarks.

Capital is the total of money and property supplied to a business
by its owner. (owner contribution).

(55638 38ogeSupiaopSolamioonay-BEgE wpedopSy)
Liabilities is an amount of money In a business that is owed to some-
one and has to be paid in the future.

(006 §:320305 08$0068:(8) =g @0pd:000 eqrupconieamnseg Apbesip s
§oopd egodedloop (Include loan, Creditor).)

Accounting Equation
(1)  [Hssets =  (apital]
cqﬁc%:a?:ugé:ep: = &ﬂﬁq&%mmg
(99g8deomogpbiyp:)
$ 100 = §$100
(2)  [Assets =  (Capital+ Liabilities (loan)]
$100 = $10 +  $30
(3)  [Assets - Liabilities =  Capitall
$100 - $30 = $10

9000900000000 0000000000000¢ uﬁu el 0000000000000 0000000000000
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Example.(1) Mr John buy the Assets for business. (to built a Market).
. buy the assets = cvdc§09t0gd:00500p01

- Purchase for resale(goods) $ 1,000
- Building $ 5,000
- Furniture $ 5,000
- Motor Ven $ 500
- Cash in hand $ 1,000
- Cash in Bank $ 2000
Total Hssets $ 14,500
.* . Assets = Capital
$ 14500 = $ 14500
Credit is a person will pay what he owes. An entry on the right-

hand side of an account.

(cpondeomnndogt curdicomaaelnpdgdoopbizacomdelpynonadopEongliogliqepd)

Creditor R person or organization to whom money or something is
owned for services or goods.

(opdogpdiaaciogiontlgl: () ozescntyapdesiqpiaangnd §0ded(§) 026¢oode
effgSeuig§fecnn pudiedizadzaopdiyp:od crdeS:ai[§qc (Creditor) vesloopds

Example.2) Mr John buy goods on Credit $ 200.
on§ogeSizcion:ocSadmougpd: (stock) copS:oBepSe
ms@:mﬁ&mé:cﬁmél

2000000000000 00000000060009 ﬁlﬁﬂ I‘.Ilﬁlﬁ 000900900000 0900060000000000¢
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Rssets =  (apital +  Libilities
fromeg. (1) $ 14500 = $14500 + 0
. $14700 = $ 14500 + $ 200

(Note - buy goods - opSogoSiocs)
(on credit - sacfopiooSaoabi)

Example.(3) Owner contributes by cash $ 500,
3Eqoqt: $:0¢$ 500 mumémén (Bssets o3« Capital o3:)

Assets =  (Capital +  Libilities
fromeg. 2) $ 14700 =  $ 14500 + $ 200
-, $15200 = $15000 + $ 200
(Note - buy m& cvoScéioaSa0a51)
Example.(4) Buy goods by cash $ 300.
Eogod: § 3008:c005c8:00508050055 (stock oBueganyp)
Assets =  C(Capital +  liabilities

$ 15200 + $ 300 - $ 300= $ 15000 + $ 200

Txample ) Pay creditor by cheque $ BV
36{0p:005000: oaérr‘l’a g105c005903(g¢ $ 50 maafopig§eodooghs

Assets = (Capital +  Liabilities
$15200-$50 = $15000 + ($200-8% 50)
15,150 = $15000 + $ 150

(Paid to by cheque. pay ﬁy cheque - gobcoodeofeé egevzapde)

00000000000000000000000000 O30 PIKlS 0000000000000000000000000¢
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eg. (6) Owner takes cash from business for his own use $ 300.
$EqEoopBaduddEapqfeaogodapbegipegapabopoopte
- Assets Capital + liabilities
$ 15,150 - $ 300 $ 15,000 - § 300+ $ 150
. $ 14,850 $ 14700 +  $ 150
(Note - fé'ﬁ'ﬂ cash from business = cpbefpegaposapaodi)

Debit is an accounting entry acknowledging sums that are owing.
An entry on the left-hand side of account.

Debtors - is a person or organization that owes money to another
person or organization.

3[g:0088:(]) 38 320p5:0009609 CQOCHNAqH§|E00
me{ogiongEiizac|zionCeaonnpad([Go:) debtors v eeloopdn



Free for All

D

Double Entry System for Assets, Liabilities and Capital

$600509C: 00 C:050
Increase - Debit (Assets cogoS:q€ Debit side ¢ocopd)
Assets |
Decrease - Credit (Assets caqpe€ Credit side ¢ocopd)
Increase - Credit (Liabilities cogoB:q€ Credit side ¢ooopd)
Liabilities
&
Capital |
Decrease - Debit (Laihilities cogeaqpe€ Debit side ¢ooopd)
xooooooxx A/C
Dehit Side (Dr) | Credit Side (Cr)

T [Pt | T | ot | e | P | i o

w

Debit (c:r%)
+

Increase

Credit (eoyp)
decrease

0000000000000 00000600000¢ ucfju TRE 0000000000000 00600000000000
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Dr Liabilities & Capital A/C Cr
Debit (ccyp) Credit (o3:)
+ -
decrease Increase

Double entry hook-keeping
Every transaction must be enter twice, once on the debit side in one
account and once on the credit side in another account.

cpSeideaonEqiodypiodtiond 02q8:56[03603C:q0p51 360G Dehit
side 988 oq a8 . o€ 65005360mEodecnE bredit side op€ong:ag8iqupde

c/d =  carrige down (closing balance
b/d = brough down (opening balance
Personal Account Accounts used fo record transaction with persons.

(9088 3ee5(E 02 E:098:600de00 3260mE e sloopd)
e.g- Debtors, Creditors [ Debit side is Receiver. Credit side is Supplier]

Note - Debtors - 88e8pnfepraSasafagionSeanap (Debit nature)
Creditor - 88e8a3cpSeyiol aaclogeqpc:eanay (i Credit nature)
The Receiver cooSs9§ap
The J’Eﬁp/fé’f eu:q;c‘?:ola

Real Account is relating to tangible things.

(c0059060005038[g8E e oo ugpdigpiad oo EioptieammeeomEaiedioopdn)
e.g- Land, Building, Cash, Bank, etc...[Credit-What come out][Debit-What come 1n].

00000000000000000000000000 0F rudd 000000000000000000006000000
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Note - Debit - what come in (o0oeogobcvoococs debit side ¢oapés)
Credit - what come out (s0o0go5:c0pcgoSagozasad credlt side ¢ 29&:)

Nominal HAccount is relating to gain or losses. It does not bear.
e.g- Rent, Wages, Purchase, Sales, Interest Received, etc......

(99§:93[g05§ & 20088 E G000 IeomEyp:ad erqE:098:600 s6070§0} edloopd
o108 $00p84pisEeandadEaomn 3acomElgdoopdi)

Debit side - loss / expenses
Credit side -  gain / incomes
Dr A/C Name Cr

loss gain
expense incomes

Capital | 38qC (owner)

ogeSianafggions opfogeSianafiaepts
credit purchase (goods) credit sale (goods)

to_owe receive
Person f_o\ ! person
creditor ‘me@:{;m@[céog business or Debtor | soefogiqupdoy
supplier company customer
GOIOD oudap

0000000000000 000000000000 u@u PGl 900000000900 0000000000600090
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Example(2)

Note | Mr John started his business with a capital of £7000.on Jan .
Note 2 Jan | - He bought office furniture by cheque £ 200.
Note 3 Jan 2 - He bought machinery £ 350 on credit from Winning Way

| company.
Note 4 Jan 3 - Sold some office furniture £ 100 on credit to Mr.B.
Note Jan 5 - Bought office furniture £ 100 on credit from Sweety Home.
Note 6 Jan 9 - Paid the amount owing to Winning Way company £ 300.
Note T Jan 15 - Received the amount due from £ 100 Mr.B
Note 8 Jan 20 - Took £ 750 out of the bank and put it in the Cash Account.

Debit Capital Account Credit

) e I e ) e
closing ¢/d ‘
i. W I mg{]
TUUG
Amount gp:eao $ide offogpdef 0098232580505

Note
sp5:0200818 0p& ¢/l coffggfesoabcosaonys Opening sylgbesgb: p:quad

pening b/d

P0000000000000000000000000 uﬁu i 000000000000 00000000000000
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Bank Account (Hssets)
£ %
Jan-1 Capital - 1000 Jan-1  Office furniture 200
Jan-15 M3 100 “ Jan-9  Winning Way 300
Jan-20 Cash A/C 150

Jan-31  Closing ¢/d 5850
1100 / 7100
feb-1 Opening b/d 9890

Office furniture Account (Hssets)

g i
Jan- | Bank 200 | Jan- 3 MrB 100
Jan- 5 Sweety Home 100 |f Jan- 31 Closing ¢/d 200

300 / 300
Feb- | Opening b/d 200 | |

Machinery Account (Hssets)

£ g
Jan- 2 machinery 350 { Jan- 31 closing ¢/d 350
350 350

Feb- | Opening b/d 350

000000000000 0000000000660¢ aﬁunm@aﬁ 0000000000900 0000000000000¢
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Winning Way Company (Creditor)

g £
Jan- 9 Bank 300 |f Jan- 2 machinery 350
Jan- 31 closing ¢/d 50

350 “ 350

Feb- | opening b/d 50

Mr.B Account (Debtor)
z s
Jan- 3 office furniture 100 |f Jan- 15 Bank 100
100 100

Sweety Home Hccount (Creditor)

3 i

Jan- 31 closing ¢/d 100 | Jan- Office furniture 100
100 100

Feb- | opening 100

00000000000000000000000000 0IO NS 00000000000000000000000000
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Cash A/C (Assets)

% g
Jan- 20 Bank 150 | Jan- 31 closing c¢/d 150
150 150

Feb- | opening b/d 150

Note for exercise (2)
- Started business with capital £.......(.wcglgé co6c§: 003p56000E 20p5)
- Bought by cheque - goSco05¢05fgE ouSangbi
- Bought on credit from “........" ("eeme”o 326[03:00500051)
- Sold on credit to Mr.B(Mr.B 523 sacfoz:eepE:00pbn)
- Paid 0 (egeo:c80520051 (38) egqé:c8050000r)
- Received from (w050 6gqo0251)

Note(l) -  c96c8:8q€:8:0¢ T0008EqEw copdant:andoopdPeqlesaooyt
agoopScS0Sa0pSmr elgpfgE:g» Bank Account o508 copdlgé:gdoopds
Belopé Bank R/ C(i'nagﬂ&l% Bank A/C (in[lebit side woopd Capital
B/C o3& Credit side woopSqepSe

Note2) -  qodcooSeodlsS office furniture ouScdaSo0p5s
Yeleeloslovaticrlonles Bank A/C @ Credit.
Assets ogoS:o&anc office furniture A/C o> Debit.

000009800000 00 000000 OOROO GGEIQ nn#& 0000000000 00COPPOPOOOCOPOOELD
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Note(3) -  Winning Way Company ¢ ecSogp5: sac[ng:00S0005
=~ Machinery oopS Assets type [g6a0p5: Machinery A/C - Debit.
mefogeoq§§eon Winning Way Comapany A/C - Credit.

Note(4) - office furniture oogfjo® Mr.B o3 sse[npieepE:c8oSaopd
Hssets ogoSifg§ogodogo:ad office furniture A/C - Credit.
melogegaepd MrB (Debtor) A/C opE Debit [gEop8:qup5n

Note(5) - office furniture soo: Sweety Home o sacfogiooSoopSs
Hssets o3:c3 office furniture A/C - Debit.
meogieouq§feoo Sweety Home (Creditor) A/C - Credit.

Note(6) -  Winning Way company o8 sacfopdgSeoiadadoopbi
sefopecqpaga:cd creditor A/C (Winning Way) ¢ - Debit.
Ggmmcﬁcﬁmémogag Bank A/C (Assets) - Credit Goqp!

Note(1)- me[pieepticonieon Mr.B o3¢ egafioopdn
cgqqj Bank A/C - Debit o8:
MrB A/C - Credit coqp

Note(§) -  Bank ¢ cgoood(B: egoomisacoméal copdafodaopbs
Bank A/C - Credit (cgeayp)
Cash A/C - Debit (egq)

& L &
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Double Entry system for Stock

Stocks

Debit o3: Stock of goods (Bssest Type) Credit u:-_cmjp

purchase - §ogod00S sale - on§ogodieept:

sale return cepCifBioged: purchase return - ooSBrogad:(g&d

(return inward)  customer o8c (return outward)  (ogpSiecqp)
G5

Credit - sale of goods/ purchase return

Debit - purchase of goods/ sale return

Sale A/C  Sale return A/C  Purchase A/C Purchase return A/C

| X | x| xx| | XX
Example(3)
Note(! Sep-l - Started business with £ 20,000 in the bank.
Note(2 Sep-2° - Goods bought on cash & 1,000.
Note(3 Sep-3 - > Goods bought on credit £ 1,200 from Mr.A. |
Note(d) Sep-4 - Took £ 750 of the bank and paid it into the cash.
Note()) =  Sep-b - Sold goods on credit £ 800 to Mr.B.
Note(6) Sep-10 - Bought machinery by cheque & 1,000.
Note(T) Sep-14 - Bought motor Ven on credit £ 1,500 from Auto Service.
Note(8) Sep-17 - Sold good on cash £ 500. -
Note(®  Sep-20 - Returned some goods to Mr.A £ 500.
Note(10) ~  Sep-20 - Paid to Auto Service & 1,500. |
Note(11) Sep-29 - Owner put a futher £ 500 into the Bank

P900000000000009000000000006 umju 103 0000000900 00000000000000000
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Note(12) Sep-21 - Goods returned to us by Mr.B £ 200.
Note(13) Sep-30 - Goods receive £ 150 from Mr.B.
Note(14) Sep-30 - Bought furniture on credit £ 100 from Kingstone Equiment.
Note*™  Bought on cash - cooSc&:00500p5
Sold on cash - cooSc:eepEioopbi

Closing ¢/d Sepl - Bak 20,000

Sep-29 Bank 500

4

Sep-1 capital 20,000 Sep-2 purchase 1,000

Sep-2% capital 500 Sep-4 cash 150
sep-10 machinery 1,000

Sep-20 Ruto service 130
Closing ¢/d @

: .
Sepd  Bak 750 Closing ¢/d

Sep-11 Sale 900

._ _ _ ;
Closing c/d Sep-b McB 800
~|SepIT  cash 500

0200000000000 ¢ PG00 000COY ﬂﬁﬂ ll# 0000090000000 0000 00000000
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Motor Ven (Assets)

% £
Sep-14 Ruto service 1,500 Closing ¢/d

Purchase Return A/C

: :
Closing ¢/d Sep20  MrA 500

Purchase R/C (Assets

Z $

Sep2  Bank 1,000 Closing ¢/d

Sep-3 MrA 1,200

Sep-20 purchase return Sep-3 purchase 1,200
Closing ¢/d

%
Sep-6 Sales 800 Sep-21 sale return 200
Sep-30 sale return  15(

Closing ¢/d @

Machinery (Hssets
; _
Sep-10  Bank 1,000 Closing ¢/d

0000000000000 00000000000¢ uﬁu ndl 000000000000 00000000000000
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BRuto Service

Sep20  Bank 1,500 Sep-14 motor ven 1,500
Sale Return A/C
Sep21  Mr3 200 Closing ¢/d(350)
Sep-30 Mr.B 150
Furniture A/C
3 g
Sep-30  Kingstone 100 Closing ¢/d(100)

Kingstone Equipment

Closing ¢/dC100) Sep-30  Fruniture 100

Note***
Note(1) Bank A/C - Debit (Dr)
Capital A/C - Credit (Cr)
Note(2) Purchase A/C - Dr (ogebio?:)
- Bank A/C - (r (egenyp)
Note(3) Purchase A/C - Dr (ogp5:03:)
MrA A/C - Cr (ssefoz:0}:)
Noted) ~ Cash A/C - Dr (ego8)
- Bank A/C - Cr (egeyp)
Note()  Sale A/C - Cr (socepliod:)
MrB A/C - Dr (egeq§o?)

00000000000000000000000000 VNG MK 00000000000000000000000000
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Note(6) ~ Machinery A/C - Dr (ogpbio?)
Bank A/C - Cr (egeayp)
Note(T) MotorVenB/C - Dr (ogpSic:)
Ruto Service A/C - Cr (sscfogiod:)
Note(8) Cash A/C - Dr (egoB)
Sale A/C - Cr (sacep€:ods)
Note(9) Purchase A/C - Cr (ogpSieayp)
Purchase returnB/C - Dr ([g$3ooqE:6003:)
Note(10)  Huto service B/C - Dr (ssefogicoqfecyp)
Bank B/C - br (egeayp) |
Note(l1)  Capital A/C - Or (qf:8:0g0%:)
Bank A/C - Dr (ego®)
Note(12)  Sale return A/C - Dr (sseep:ongicayp)
MrB A/C - br (sacfog:q$eayp)
Note(13) Bank A/C . Dr (ego3:)
MrB A/C - Cr (qe$§ecyp)
Note(14  Furniture A/C - Dr (ogpSiod:)
Kingstone Equipment- (R (sacfoz:03:)

&> L &
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Double Entry for Expenses, Incomes and Profit or Loss

Exp;nses - Costs of operating the business.

apbedoptiropBoodapgeom mpiayegigbaopdy
eg. Rent, Wages, Salaries, Telephone, Insuranus, Machinery, Sundry ex-
penses, Repairs, Interest, Sale Commission, Printing and Stationary, Postage, Mainte-

nance, Entertainment, Discount Allowed.

Incomes - Value of goods or services supplies to the customer.
eg. Rent receivable, Discount Receive, Commission receivable.

Profit- The excess of the selling price over the cost of providing
the goods or service sold.

ofososdy(d)opfogeSiopBiagopbforegeondiaparog

(s2lg0beg)fsboods
Losses - The amount by which the expenses of a transaction or oper-
ation exceed the income produced.
cwbe§re0pdoodpoptafieconotegond saadiododownanm
Baprapeang(sxgredi)gBocs
Decrease (Debit) Profit and Loss A/C Increase (Credit)
- Expense - Income
- Lioss | - Profit/gain
- Drawing
Drawing - is owner take out from his capital for use himself.

3EQEa0p50p0geSE g § 300305 apaiadifiegody egapodup 20pSH

00000000000000000000000000 0JO TAE 00000000000000000000000000
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Example(4) Enter the below transaction, completing the double entry in book.
May-1 Started business with £ 5,000 in the cash book.
May-2 Purchase goods £ 1,200 on credit from Great Co.,
May-3 Bought fixtures £ 100 paying by Cash.
May-6 Sold goods for cash £ 470.
Bought goods on credit £ 100 from Lion Smith.

0 =1 o @ oo PO
Ty
b
o0

0 Owner took cash for private use £ 50.
May-11 Paid telephone bill by cash £ 5.
May-14 Bought Sundry Expense by cash & T0.
9. May-18 Sold goods on credit to Golden Star & 500.
10. May-20 Paid rent by cash & 15.
1. May-25 Paid insurance hy cash £ T1.
12 May-dl Paid wages by cash £ 300.
Capital A/C
% %
May-3t  Closingc/d (5000 May-1  Cash 5,000
Purchase

3
May2  Great Co, 1200  |May31  Closing c/d(1300)

May-8 Lion Smith 100

Furniture

Z

May3  Cash 100 May31  Closing c/d

0000000000000 00 0000 COPGCOY Hﬁﬂw 9000000000000 00000 0000000



Free for All

unicqza):q aclgdenC:nMcupn (voudc:)

Lion Smith
5 5

May-31 Closing c/d May-8 purchase 100

May-11 cash 5 May-31 Closing ¢/d @

May-18 sale 500 May-31 Closing ¢/

Wages

May-3l  cash 300

Great Co.,

May-31 Closing ¢/ d May-2 purchase 1,200

2400000000000 000000 0000000 Htfjﬁ ﬂﬂiﬂs P00 0000000000000 OPOOOOPOO
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Cash A/C
- g %
May-1 capital 5,000 May-3 Furniture 100
May-6 sale 410 May-10 Drawing 50
May-11 Telephone 5

May-14 Sundry 10
May-20 Rent 15
May-25 insurance 11
May-31 wages 30(

May-31 Closing c/d (4859

Sale A/C

X

May-31  Closing c/dC810)  [May6 cash 410

May-18 Golden Star 500

0040000000000 000000000S0P Hiﬂ IHH%& 0000000000000 00 000000000
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Rent
%
May-20  cash 15 May-31  Closing c/d ((15)
Insurance
4

May-25 cash 11 May-31  Closing c/d
Note (1) Bank A/C - Dr

Capital A/C - Cr
Note (2) Purchase A/C - Dr
| Great Co., A/C - Cr
Note (3) Furniture A/C - Dr

Cash A/C - Cr
Note (4) Sale - Cr

Cash - Dr
Note () Purchase A/C - Dr

Lion Smith - Cr
Note (6) Drawing A/C - Dr

Cash - Cr
Note (7) Telephone A/C - Dr

Cash A/C - Cr
Note (8) Sundary A/C - Dr

Cash A/C - Cr
Note (9) Sale A/C - Cr

Golden Star A/C - Dr

000000000V OOPOOOOOOOPOOOED Hﬁﬂ m@ 000000090090 00000009090009000 @
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Note (10)
Note (11)

Note (12)

Rent A/C
Cash A/C
Insurance A/C
Cash A/C
Wages A/C
Cash A/C
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The Trial Balance (s006:q8:006:)

R list of the balances on all the accounts of a business with debit
balances in one coloum and credit balance in the other.

The totals of Dehit coloum and credit coloum should be the same.

(cpbeSisizacomondafal:8eediaoneann condoySenaSqp:ad Debit side o3¢
cl0on Debit :r:mtﬁoge m&:@lqﬁ Credit side 038 clJon Credit :Dcﬁogé mq&mé
qupS[gBoopSi Trail Balance o8 Debit opedi:sé Credit poedB:a0p8 p8qupb)
(Figures reffered from example (4) transaction)

Trail Balance formatf
"Company Name " Trail Balance as at ......

Debit Balance | Credit Balance

Capital A/C

Cash A/C

Purchase A/C

Furniture A/C
Sales A/C

Lion smith (creditor)

Drawing

Telephone Bill
Sundary

Golden Star (Debtor)
Rent

Wages

Insurance

Great Co,,

9000000000000 0000000000000 uﬁu il 00000000 0000000000000009
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Profit and Loss Account and Balance Sheet

Profit and Loss (or) Income Statement
To show operational result of a period.It is also known as profit and loss
account. [mmsa@&m@:z mc‘ammc:rg&a?ac%méucg?mﬁ: E:ECIS(‘!% G(SSEGDJ’.}
02 E:0069 b0
"Format of Profit and Loss A/C "
Profit and Loss Account for the year ended ...

$

(1)  Sales Revenue(or) Net sales X  (s00m008eepliaeg)
(8)  Cost of sale X)  (ssceptimn§oyedod)
(3)  Gross Profit X (saf3bxgCimfgod)
(4)  Other incomes X (safgp:08eg)
(9  Distribution costs X)) (ogeS{sSeofgt:onfoyedod)
(6)  Administrative expense X)) (§opt:B&:mm$§onodcd)
(T)  Other Expenses. X)  (sfpropSoqpdod)
8)  Profit from operation X (c00cscopbuodeeseigodacs)
9)  Interest incomes X (3203:08ag)
10) Interest expense (X)  (sdBcoeg)
11)  Profit before tax T(mﬁ:qo%mg%.usm&a&m@éeg)
12) Income tax expense (X)  (cCeggforSoyes)
13) Profit for the Year X (00958eiznlgodeg)

(0R)
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"Format of Profit and Loss A/C "'
Profit and Loss Account for the year ended ..............

5 5 %

Sales -
(-) returns inwards ) x
(-) Cost of goods sold
Opening stock y
purchase X

(+)carriage inwards X

(-) return outwards () X
(-) closing stock 6 X
Gross Profit -
(+)Income Y
(-) expenses %
Net Profit -

Working Note

1) Sale revenue (Net Sale) = Sales - Sale return

2) Cost of Sales =(opening stock-+purchase+carriage inward-purchase return-closing stock)
3) Gross profit = Net sale - cost of Good sold

4) Other incomes (Discount receive, commission receivable, Interest receivable, Rent receiv-
able)

Balance Sheet - A statement of the total assets, libilities and capital a t
an business at last day of the accounting period and to show financial position.

(egp0daprqpdogtonhieca qEgbugnbiqpuagapraoiahiieanogobiqpi(egap:) st
on0PGe36[gHe$0deegenieon condoysqtiontiongtigdoodi)
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"Company Name"
Balance sheet as at ........

ASSETS
None-Current Assets
Land and Building
Plant and Machinery
Fixtures and Fittings
Goodwill
Other intangible assets

Current Assets
Inventories (stock)
Trade receivable (Debtors)

Other current assets
Cash and Bank

1HHHH > L > i < &

IH

Total Assets XX
Current Libilities
Trade and other pay ables (creditors) x
Short term loan(oxcocleqpag) X

) “

Non-Current Libilities |
Debentures X
Long-term loan(omocoqpSeqpeg) X X

Finance by

Capital X

+ Profit for the year X

() Drawing (x) X
- XX

P
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(Trading Profit and loss A/C and Balance Sheet are call Final Ac-
count.)

Example (5)-  The following Trial Balance was extracted from the book of
Mr.John on April 2011. Prepare his Income statement for the year ended 30 April
2011 and a Balance sheet at that date.

Dr Cr
g g
Sale 17,500
Purchase 11,446
Stock 1-May-2010 3,116
Carriage inwards 234
Carriage outwards 326
Return inwards 440
Return outwards 550
Salaries and wages 2500
Motor expenses 664
Rent 550
Rdministrative expenses 1210
Fixtures and fittings 600
Motor Vechicles 2500
Creditors JIT1
Debitors 4500
Cash in hand 150
Cash at Bank 3800
Drawings 2025
Capital 13500
34121 J4121

Inventories (stocks) at 30 Aripl 2011 was £ 4950.
Prepare for the Profit and Loss Account and Balance Sheet.

0000000000000 900000000000¢ uﬁc PEs 0000000000000 0000000000000
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""Working Note"
Sale revenue (Net Sale) = Sale - Sale return
= £ 17500 - % 440
= £ 17060
Cost of sale = opening stock + purchase + carriage inward- purchase return - closing stock
% 3116 + £ 11446 + %234 - £ 550 - £ 4950

% 9956

Other expenses £ 2500 + £ 664 + £ 550 +% 326

£ 4040
Profit and loss for the year ended 30 April 2011

£
Sales Revenue(or) Net sales 17,060
Cost of sale (9,956)
Gross Profit 1,104
Other incomes
Distribution costs -
Administrative expense (1,210)
Other Expenses 4040
Profit from operation 1,854
Interest incomes
Interest expense -
Profit before tax 1,854
Income tax expense (- )
Profit for the Year 1854
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(OR)
Profit and Loss Account for the year ended ...
g 4 g

Sales 17500
() returns inwards (440) 17060
(-) Cost of goods sold
Opening stock 3116
purchase 11446

+)carriage inwords 234

-) return outwards (550) 11130
(-) closing stock (4950) (9956)
Gross Profit 1104
(+)Income
(-) expenses
Carriage outwards 326
Salary and wages 2500
Motor expenses 664
Rent 550
Administative 1210 _ (5250)
Net Profit 1854

000000000000 00000000000000 uﬁn TS €0000000000000000000000009
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"Mr.John"
Balance Sheet as at 30 Aripl 2011.
ASSETS § g
Non Current Assefs
Fixture and fittings 600
Motor Vehicles 2500 |
3100
Current Assets
Inventories 4950
Debitor 4500
Cash in hand 150
Cash at bank 3800
13400
Total Assets 16500
Current Libilities
Creditor 3171
Finance by
Capital 13500
(+) Profit for the year 1854
() Drawing (2025)
13329
16500
F> &
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The principles and Rules of Accounting
(a). Books of prime entry or Day Book.
* R book or record in which certain types of transaction are recorded before
becoming part of the double-entry book keeping system.

Double entry Book o3o8wo38:8 3fgpi0005¢0500nieom sadfimaeniqpiaacil: 3aqf
©261E103¢1002:6:000 00330036 9loo 0N
The books of price entry are known as the "Day hooks Journal and cash books.
* Sales and purchases journals. |
* Return inwards and outwards journals.
* Cash hooks
* Journal
(b)  Double entry to ledger
* Sale ledger
* Purchase ledger
* General ledger
* Cash Book
(c)  Tral Balance (s008:q8:008:)
(d)  Income Statement (profit and loss) (sagreslgodonqt:)
(e)  Balance Sheet (or) final accounts (cooSoq§qS:ionés)

Type of Account Type of Ledger
Personal Account

()  Debitor A/C
()  Creditor A/C

Sale Ledger
Purchase Ledger

e N P
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Real Account
()  Assets A/C

(i) Stock A/C General ledger

Nominal Account

()  Expenses A/C

Cash and Bank A/C y (Cash Book/petty cash book
Journal - R book of prime entry In which transfer to be made from

one account to another are recorded.

- Mr John started business with £ 5000 in the bank at Jan-I.

Dr Capital ~ Cr Dr Bank Cr
| 5000 5000 |

Journal Format

Date Description folio Debit Credit
g £
Jan-1 Bank 5000
Capital 5000

[ Being capital at the bank at this date]
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Lyample-

| June 'RR' paid £ 10000 into bank as capital.

J June He bought a machine £ 3000 by cheque.

4 Tune Bought goods from | Brew on credit £ 1700.
0 June Sold goods to Arrfu on credit 1200.

8 June Withdrew £ 700 from bank.
- Show the Journal entry necessary to record the above items.

'‘Journal’ .

Date Particular Folio Debit Credit
|-June Bank 10000
Capital 10000
(Being Bank and capital at this date)
3-June Machine 3000
Bank 3000
(Being bought a machine at this date)
4-June Pruchase 1700
| Brew 1700
(Being bought goods on credit at this date)
b-June Mr.Arr Fu 1200
Sale 1200
(Being sold goods on credit at this date)
§-June Drawing 100
Bank 100

(Being drawing at this date)

00000000000000000000000000 uﬁu BRRD 00000000000 000000000000000
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Parchases Day Book (PDB) -Each purchase (except cash purchases) will
be entered in the purchase day book.

(egodzae[0R:0056000 m§0ogediegoqE:a’ podaoniearnenspdgdaopd)

Purchase day book is a record book not an account.

Example-
I-Jan Bought Goods on Credit from Mr.Roller £ 9000
T1-Jan Bought Goods on Credit from Mr.Jone £ 3000
|3-Jan Bought Goods on Credit from Ms.Rosy £ 8000

31-Jan Prepare purchase day book and ledgers.

Purchase Day Book

Date Invoice & Supplier's name folio Amount
£

I-Jan xxx  Mr.Roller 5000

I-Jan xxx — Mr.Jone 3000

13-Jan xxx  Ms.Rosy 8000

31-Jan To purchase ledger 16000

Dr General ledger (Purchase A/()

31-Jan purchase 16000
day book

2000000000000 000000000000O Héf-‘l I‘HH@& 000000000000 0000 COOOOOPOOY
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Mr.Roller
3
Il-]an purchase 5000
Ms.Jone
—
T-Jan purchase 3000
Ms.Rosy

£
I-Jan purchase 8000

Purchase Returns Day Books
example:  1-Feb Returned goods to Mr.Roller % 500.
20-Feb Returned goods to Ms. Rosy £ 2000.

Purchase Returns Day Books

Date Supplier & Invoice [Kolio %

|- Feb Mr.Roller 500

20-Feb Ms.Rosy 2000

28-Feb Purchase returns ledgers 2500
Mr.Roller

7
|-Feb Prushase return 500

00000000000000000000000000 0Fo NI 00000000000000000000000060
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Ms.Ros
3 |
I-Feb Purchase return 2000

Purchase Returns Account (General Ledger

%
28-Teb purchase return 2500
day bhook

Sales Day Book Eash sale(except cash sales) will be entered in this sales day
book.

(egopzae|nRieeptiom 0ogtigpi0dogCioptigeomenzptopesioogd)

Sales Day Book

Date Customer & Invoice Folio Amount
I-Jan Mr.John 3000
{1-Jan Mr.Paw 8000
J1-Jan Sales Ledger 11000

M.
£
[-Jan Mr.John 3000

ohn (Debitor

Mr.Paw (Debitor)

%
[1-Jan Mr.Paw 8000

00000000000000000000000000 OFo NS 00000000000000000000000000
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General Ledqer (sale A/C _
£ Z
31-Jan Sales day 11000

book

* S.R = Sale return
* PR = Pruchase return

Sale Return Day Book

Date Customer & Invoice folio Amount

|-Feb Mr.John 100

20-Teb Mr.Paw | 500

28-Feb General Ledger 600
Mr.John

|-Feb Sale Return 100

Mr.Paw

£
20-Feb Sale Return 500

General Ledger (Sale Return A/C
5
28-Feb Sale Return Day Book 600

00000000000000000000000000 0Fo 1S 00000000000000000000000000
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Book of Original entry (Cash Book)

Cash Book - R book in which bank, cash transactions are recorded. These
include receipts and payments as well as other expense and other income etc....

egm0EmaR0doatiqpr 3205:00q8:qpis¢ F(Frieg300C00qEiyPio} 6q:90dqEa
@301 20058

Two coloum cash book - A cash book that records receipts and pay-
ments made but does not record discounts allowed and discounts received.

onho i egongtiznoancgodypiafeqiodGegeagpeoiat:selstiqp: edlocd

Debit _ Credit
Date Particular folio | Cash | Bank Datﬂ Particular  folio | Cash | Bank

Cash receipt

Three coloum cash book - A cash book in which details of Discounts

allowed and Discounts received are included in addition to receipts and pay-
ments made.o§oospbopE Bank,Cash ooq8:qp:58 Discount eoqS:gpiaopSogé:ae

930000
iree Lolg S B0Q
Date_Particular |DA |Cash | Bank|Date Particular [DR |Cash | Bank

Cash receipt Payment X
Discount Allowed Discount Received .

Note - Sales of Good on Credit ——— Dehitor — Discount Allowed.
Sales of Good on Credit ——— Creditor— Discount Received.
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Example  I-Jan Goods sold on credit to Ms.Will £ 200
Sales allowed for 5% cash discount for payment.
6-Jan Ms.Will pay debt by cheque.

Ms.Well (Debtor)
4 %
I-Jan Sale 200 |f 6-Jan Cash 190
6-Jan Discount 10
Rllowed

Example [-Jan Goods purchase from Ms.Rosy £ 300.
By paying within 14 days receive a cash discount 10%
[3-Jan We paid Ms.Rosy by cheque.

Ms. Rosy (Creditor)

% £
13-Jan Bank 210 || 1-Jan purchase 300
13-Jan Discount 30
Received
Discount Allowed (Expenses)
%
6-Jan Ms.Wil 10

Discount Received (Income)

3
[3-Jan Ms.Rosy 30
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Date Particular mmmm Bank

b-Jan Ms.Will l3]an Ms.Rosy “. 210

Exercise Write up three coloum cash book. Post the totals of discount allowed
and discount received from the cash book into the discount allowed and discount
received accounts.
-Mr John commenced his business on 1-January with the capital amounitiny £ 50000
cash inhand and £ 80000 at bank. |
3-Jan Bought goods by cash £ 4000.
5-Jan Sold goods to Mr.B on credit & 5000.
T-Jan Withdrew from bank and kept it in business & 2000.
9-Jan Bought Premises by cash & 10000.
11-Jan Received a cheque from Mr.B £ 5000.
The cash settlement discount allowed £ 400.
[3-Jan Rent office room by cheque £ 1500.
31-Jan Prepare the cash hook showing closing balances.

Three Coloum Cash Book
Date Particular|{folio|D.A | Cash | Bank || Date  Particular  [folio] DR | Cash | Bank
IJan  Capital 50000 | 80000 (| 3-Jan  Purchase 4000
TJan Bank | C 20000 T-Jan  Cash C 20000
11-Jan MrB 400 5000 || 9Jan  Premise 10000 -
13-Jan Rent office 1500
31-Jan Balance ¢/d 400 | 56000 | 63500
400{ 70000 | 85000 400 70000 | 85000
Feb Balance \ ‘imn‘ 56000 sasnn\ W \ \
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Note(1) Discount Allowed £ 400 transfer to Discount Allowed Account Debit
Side.

Discount Allowed
5
400

Petty Cash Book

Petty Cash book is a cash book to pay small items of expenses. A book used
to record petty cash transactions. It is usually kept in an imprest system. Imprest
system where a restore is made of the total paid out in the period.

(300%:08§0dcudypin? 6go0056uigER GEoqC:03p0(gdaod1 Begorql:
033003 [g8[gpSe0i60005803 305:{g00pd [g§lgodevieomosdadonpSen omaw
8&+{epr009 3205€:05:0:8056 00 (ad) egeuindndecm venanaacBE: main cash book ¢
a006aonmyslgpdeoieanosdigdoopd

Rule of entry

() Main cash book paid to petty cash book.
Debit - Petty cash book
Credit - Main cash book (Cash)

(2)  Expense paid by petty cash.
Debit - Expenses account
Credit - Petty cash

P00 000000 0000090 COGOOCPO Héﬂ lﬂmﬁ 0000000000000 00000 POOOGOO
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Example
Oct-1 Main cash book put to petty cash book £ 100
Oct-1~15  Petty cash paid to expenses £ (20
Oct-15 Petty cash balance £ 80
Oct-16 Rdded to petty cash from main cash book & _20
£ 100
Oct-16 Petty cash paid to expenses £ _(50)
Oct-31 Petty cash balance £ 50
Nov-1 Hdded to petty cash from main cash book £ 50
| 100
Exercise

MrJohn keeps his petty cash on the imprest system.

The petty cashier started £ 20 as an initial advance at 1 June.

The expenditures are as helow. Prepare A petty cash book and petty cash accounts
in relation with it.

3-June Paid motor vehicle expenses & 32

9-June Purchase stationary & 11.50

8-June Purchase postage stamps & 8.90

11-June Paid travelling expenses & 11

16-June Pard Ms.Rosy, a creditor £ 20.30

21-June Purchase stationary £ 15.20

21-June  Pruchase petrol & 14

30-June Payment of charge for postage expenses £ 13.50

At I-July the cashier restored the cash for the next period.

0(a) Prepare a petty cash book and petty cash accounts in relation with it.

00000000000 0000000000006000 uﬁu Nl 0000000000000000006000060090



Free for All

oy eflurian

Debit

Date

|-June

|-July

Received

s

200
initial

M _
Balance
b/d
136

126.4

Credit

Date

J-June
5-June
8-June
|1-June
16-June
21-June

30-June

30-June

Details

i

Motor Vehicle
Stationary
Postage stamp

Travelling

Ms.Rosy

Stationary
Petrol
Postage

balance ¢/d

ogeolBeSEE:

.
No.
£

Total | Motor| Stationary| Postage|Travelling| Petrol | folio| Ledger
Ven Stamp
i £ £ £ : | £ £
2| 2
11.50 1150
8.90 8.90
1 1
20.30 20.30
15.2 15.2
14 14
13.50 13.50

"Petty Cash Book"

0(b) State the ledger to which the total of each analysis coloum will be posted.

General Ledger

Motor Vechicle Exp:

00000000000000000000000000 0o NIFE 00000000000000000000000000
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Cash Book

Petty

30-June
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Stationary Expenses

30-June Petty 26.1

Cash Book
Postage Stamp expenses
I
30-June Petty 22.4
Cash Book
Travelling expenses
r .
30-June Petty 3
Cash Book
Petrol expense A/C
il
30-June Petty 14
Cash Book
Purchase Ledger
Ms.Rosy A/C
— — -
30-June Petty 20.30
Cash Book

2600000000000 00000000000000 aﬁu ol 9000900000000 0000000000000¢
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Exercises
Exercise(l)  Classify the following item into Liabilities and Assets.
(@)  Machinery
(b)  Cash in hand
()  Loan from D Jones
(d)  Stock of goods
()  Premises
()  Creditors for goods
(g)  Debtors
(h)  Owing to bank
()  Motor Vehicles
)  We owe for goods

Exercise(2) Complete the gaps in the following table.

Assets Liabilities Capital
3 5 %
(@) 15600 9000 ()
(b) 28000 () 16450
€ (7 17200 39750
d 11650 (9 9985

Exercise (3)

Entry the following transactions in the records of Mr.Simon.
2012 |
Nov-1 Start Business with £ 5000 in the banks.

2 Bought goods on credit from Mr.Shaw £ 900.

3 Bought goods on credit from D.Moore & 350.

| Sold goods for cash £ 190.

0000000000000 000 00000000 O ﬂﬁﬂ ll# A 22 4 L 2 2 22 2 22 122 2 2-3 2 2-2 3 30 2



Free for All

runca)Ra):q) efgdenqt:niCuan (vufe:) @

8 Sold goods on credit from H.Morgan £ 150.

9 Returned goods to Mr.Shaw £ 50.

IT  Take £ 280 of the cash and paid it into the bank.

20  Bought machinery by cheque £ 550.

21  HMorgan returned to us £ 38.

23 Bought motor vehicle on credit from Auto Service £ 600.

24  We paid MrShaw by cheque £ 850.

Exercises (4)
Enter the following transactions in double entry
Year 2011
Jan- | Started business with £ 8000 in the bank.
2 Bought stationary by cheque £ 20.
J Bought goods on credit from B.Hanson £ 900.
4 Sold goods for cash £ 180.
5 Paid insurance by cash £ 60.
8 Bought machinery on credit from 8W. Jone £ 100.
9 Paid for machinery expenses by cheque £ 50.
11 Sold goods on credit to D.small £ 300.
13 Received by cheque from D.small £ 300.
19  Paid rent by cash £ 30.
24  Paid by cheque to B.Hanson & 500.
25  Received goods from D.small £ 30.
26  Paid salaries by cheque £ 250.
30  Proprietor take out from bank for himself £ 500.

990000000000 OCOVOOOOOELOPO H%H l‘.lm:qé G000 0000 000V POOOOOCOCOOCOEGOO
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Exercises (9)
- Statement a trial balance as at 31-Jan-2011. Using the balance of all accounts
~ of exercise (4) transactions.

Exercise ()
The following Trial Balance had been extracted form the ledger of Mr § Morgan.
Trail Balance at 28-Feb-2012

Dr(£) Cr(£)
purchases 155000
sales 281590
stock, 1-March-12 11000
return's outwards 4550
heat & lighting 2950
salaries & wages 38990
administrative expenses 1800
premiser 108000
furniture & fitting 35000
motor vehicles 18500
debitors 21000
bank 1200
cash 150
creditros 22000
loan 1800
drawing 9600
capital | 92250
408190 408190
Inventory stocks at 28-Feb-2012 was valued at £ 16150.

Required,
Prepare a trading profit and loss account for the year ended 28-Feb-2012 and
balance sheet at that date of the following trial balance form.

0009000000000 00000000000000 uﬁu ndi 0000000000000 00000000000600
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Exercise (1)

Mr.John is a sole trader. Who records all his cash and bank transactions in
a three coloum cash book. A 1-Nov-Year 10.

Cash in hand £ 78 and bank overdraft £ 1690 balance had in her account.
The following are Mr.John transactions for the month of Nov-Year-10.
Year

Nov-2 Received a cheque of £160 from Mr.D in full settlement of a debt of

£168.
Nov-9 Cash sales receive by cheque % 2110.
Nov-10 Drew a cheque £ 89 for insurance.

Nov-12 Paid £ 55 cash for postage stamp.

Nov-14 Paid to Mr.C the sum of £ 80 by cheque in settlement of an amount
owed to him of £ 95.

Nov-18 Cash sale receive £ 1250.

Nov-19 Drew cheque for rent £ 160.

Nov-24 Received a cheque of £ 608 from Mr.D in settlement of his account
amount to £ 700.

Nov-30 Paid salaries of cash £ 20.

Required,
- Drew up the three coloum cash book for the month of Nov-Year-10.
- Total the two discount coloums and state to which ledger accounts.
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Exercise (8)
. Using the petty cash imprest system, the imprest is £ 200. At the [-Nov-Year-
5, the balance of petty cash in hand is £ 13.10.
Year-4
Nov-1 Mr.A put cash to petty cash book to make up to the imprest amount.
Nov-2 Paid £ 15.80 for cleaning materials.
Nov-6 Paid £ 25 for travelling expenses.
Nov-10 Purchase postage stamp £ 30.
Nov-14 Purchase stationary £ 50.
Nov-16 Payment of charge for cleaning materials £ 8.2.
Nov-19 Paid £ 35 for postage stamp.
Nov-26 Paid £ 15 for stationary.
Nov-29 Paid £ 10.15 to Mr.B, a creditor.
Nov-30 Paid £ 3.50 for MrE, a creditor.
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Exercise (1) Answer

(@)
(b)
(c)
(d)
(e)
()
(9)
(h)
1)
)

Assets
Assets
Libilities
Assets
HAssets
Liabilities
Assets
Liabilities
Assets
Liabilities

Exercise (2) Answer

(@) 10600
(b) 11550
(c) 56950
(d) 1665

Exercise (3) Answer

Nov-1
Nov-2
Nov-3
Nov-1
Nov-8
Nov-9
Nov-1T
Nov-20
Nov-21
Nov-23
Nov-24

Bank-Dr , Capital-Cr

Purchase-Dr , Mr.Shaw-Cr

Pruchase-Dr , D.Moore-Cr

Cash A/C-Dr , Sale A/C-Cr
H.Morgon-Dr , Slae A/C-Cr
MrShaw-Dr , Purchase return A/C-Cr
Bank A/C-Dr , Cash A/C-Cr
Machinery A/C-Dr , Bank A/C-Cr
Sale return A/C-Dr , H.Morgon A/C-Cr
Motor Vehicle-Dr , Ruto Service-Cr

Mr.Shaw A/C-Dr , Bank A/C-Cr.
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Exercise (4) Answer

Jan-31  closing c/d Jan- Bank 8000

8000
feb-1 opening b/d 8000

Stationary A/(

; ;
Jn2  Bank 20 Jan-31  Closing c/d
20 20

feb-1 opening b/d 20

Purchase A/C
: .
Jn-3  B-Hamson 900 | Jan-31  Closing c/d
900 900
Feb-1  opening b/d . 900
Sale A/C
g :
Jan-31 Closing ¢/ d Jan-4 Cash 180
Jan-11 D-Small 400

980

- 980

Feb-1 opening b/d 580
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4 £
Jan-1 capital 8000 Jan-2 stationary 20
Jan-13  D-small 300 Jan-9 Machinery 30
Expense
Jan-24  B-Hanson 500
Jan-26 Salary 250
Jan-30 Drawing 500
Jan-dl Closing c/d (698>
8300 | 8300
feb-1 opening b/d 6980
Cash A/C
% " g
Jan-4 Sale 180 Jan-5 Insurance 60
Jan-19 Rent 30
- 1 Jan-31 closing ¢/d
180 180
Feb-1 opening b/d 90
B-Hanson A/C
g i
Jan-24 Bank 500 Jan-3 Purchase 900
Jan-31 closing ¢/d _

900 900
" feb-1 opening b/d 400
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Insurance A/C

3
Jan-$ Cash 60

60
Feb-1

opening b/d 60

- Machmery A/C
£

Jan-8 SW]one T0(
10(
Feb-1 opening b/d T0(

Q00

Jan-31

[ |
—
=)
w2
=
=
[ oy |
S
=l
=
|

Jan-31 closing ¢/d
60
Jan-3l closing c/d @
100
SW fone A/C
%
| Jan-8 machinery 100
100
Feb-1 opening b/d 100

Machinery Expenses

g
Jan-9 Bank a0
50
Feb-| opening b/d 50

fan-31 closing ¢/d
50
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D-Small A/C
% £
Jan-11 Sale 400 \I Jan-13 ‘Bank 00
Jan-25 Sale return  J(
L Jan-31 closing ¢/d m
400 400
Feb-1 opening b/d 10
___ Rent A4/C
%
Jan-19 Cash 30 Jan-31 closing ¢/d @
30 30
Feb-1 opening b/d 30
Sale Return A/C
%
Jan-25 D-Small 30 Jan-31 closing ¢/ a G i

30
Feb-| opening b/d 30

Salary A/(

g
Jan-26 Bank 250 Jan-31 clnsmg ¢/d @
230 _250
feb-1 opening b/d 250
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Drawing A/C
% %
Jan-30 Bank 500 Jan-31 closing ¢/d _ 500
500 500
Feb-1 opening b/d 500

Exercise (5) Answer
Trial Balance as at 3!-Jan-2011

£ Dr £ Cr

Capital A/C 8000
Stationary A/C 20
Purchase A/C 300
Sale A/C 560
Bank A/C 6980
Cash A/C 90
B-Hanson A/C 400
Insurance A/C 60
Machinery A/C 100
S.W Jone A/C 100
Machinery Expenses A/C| 50
D.Small A/C 10
Rent A/C 30
Sale returned A/C 30
Salary A/C 250
Drawing A/C 900 L

9680 | 3680
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Exercise (6) Answer
Profit and Loss Account for the year ended 28-Feb-2012.

£

Sales revenue (281590-3000) 218,590

Cost of sales (155000-4550+11000-16150) (145,300)

Gross Profit 133,290

Administrative expenses (1,800

Other expenses (2950-+38990) (41,940)

Profit for the year 83,550

Balance Sheet as at 28-Feb-2012
% 5 £
Non Current Hssets
Premises 108,000
Furniture & fitting 35,000
Motor Vehicles 18,500
161,500

Current Assets
Debitors 21,000
Inventories 16,150
Bank and cash (1200+150) 1,350 38500
Total Hssets 200000
Equity and Liabilities
Equity

Capital 92250

() Drawing (5600)

Profit for the year | 83550 170200
Current Liabilities

Trade Creditor 22000

Loan 1800 29800

200000

¢ ######i#i#i############%##i 0000006600000 6000600¢
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Exercise (1) Answer

Three Coloum Cash Book
Date  Particular|folio|D.A|Cash | Bank || Date  Particular  |folio] DR | Cash | Bank
Opening b/d 18 Opening b/d 1690
2-Nov MrD A/C 8 10-Nov Insurance 89
9-Nov Sales B/( 2110 12-Nov  postage stamp H]
[8Nov  Sales K/C 1250 1&Nov  MrCB/C 15
24Nov  MrDA/C 92 19-Nov  Rent B/C 160
30-Nov Salaries A/C 20
30-Nov  Closing c/d D | A
100 | 1328 2110 15 | 1328 | 210
|-Dec  opening b/d 1253 171
Discount Allowed (expenses)

Z

30-Nov Cash book 100

Discount Received (income)

z

30-Nov Cash book 15
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Exercise (8) Answer

Cr _
mwnm:a Date  Particular Total (Cleaning |Travelling [Postage | stationary|folio|Ledger
materials stamp
Year 5 .
|-Nov I-Nov o_um_:E b/d
Opening b/d| 2-Nov Cleaning material| 15.8 | 15.8
13.1 | 6-Nov travelling 25 25
186.9 | 10-Nov postage stamp | 30 30
200 | 14-Nov stationary | 50 90
16-Nov cleaning machine | 8.2 | 8.2
19-Nov- postage stamp | 35 35
26-Nov stationar 15 15
23-Nov MrB A/ 10.15 10.15
30-Nov Mr.E A/C 3.5 3.50
2.65] 24 A b3 63 [3.65

30-Nov Balance c/d

.—.!.

o
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Capital Expenditure

Expenditure is the spending on capital equipment (spends money to buy or

add value to a fixed assets)(cpSc§:3888gugndisnogndoodeant:onfoyecidooad)

Example

Capital Expenditure

-purchase of new welding machine
-purcahse of new motor ven
-building extension to the ware house
-additional office room

Revenue Expenditure

Expenditure is an ongoing cost for running (day to day)of the business.

example: operating cost (cpSc§:copSucdeizaozadespdonsayjododypigord)

Revenue Expenditure
-carriage costs on purchase
-carriage costs on sale

-legal costs of collection debts
-insurance premium

-repairs to office equipment
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0 (1-1) Classify the following between 'Capitl' and 'Revenue Expenditure'.

()  New Premise for office

1)  Carriage cost on purchase

i) Wages of factory staff

iv) Repair to office safe

v)  Cost of new plastic mould machine
(vi) Building repairs

(vii) Fire insurance premium

(vii) Painting extension to warehouse
(ix)  Addition furniture for office

()  Legal charges on company licence

Accrued & Prepaid Expenses and Accrued & HAdvance Income
(20308 05evigforbidiondent sEaqioypiciortaogyp:)

Rccrued Expenses - (Liabilities type)
Good of service cemes in but we have not yet paid for it.

(0§0deurqSoyegoopd Lia: so§p3000{36c3 Expenses B/ Cop€ Cr Sideoy€aopdef)

Prepaid Expenses - (Assets type)
R payment made for good or services before they are received.

(0§0S[Bor8evregoond Assets =ofpzon{gdad Expense A/C opé Dr Side
g8aopiaf)
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Dr Expenses A/C Cr
g £
Prepaid b/d XX Accrued b/d XX
Cash/Bank XX Profit and loss A/C xx
Accrued c/d XX Prepaid c/d QO
X XX
Prepaid b/d XX Rccrued b/d XX

Example : 'R’ prepaid £120 for Rent Building for the next year.
Prepare accounts for this fransation.

Dr RentrBulding B/C Cr
£ g
Date Cash B/C 120 || Date prepaid expenseA/C 120
Dr Prepaid Expense A/C b
£ £

Date Rent Building 120
(send to B/S under C.Assets) |

Note- This prepaid expense is not effect to Profit and Loss .
Therefore, no entry in the Profit and loss A/C.
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Example : 'R' has to be paid Telephone Bill £300 for this accounting
period.Prepare adjustment accounts Profit and Loss Account for this transation.

Dr Telephone Bill A/C Cr
: g

Date Hccrued Expense 300 |Date  Profit and Loss A/C 300

Dr Accrued Expense A/C Cr
% £
Date Telephone Bill 300
(send to B/S under C.Liabilities)

Dr Profit and Loss A/C Cr
4 g
Date Telephone Bill 300

—

Accrued Income - (Assets type)
Income that has been earned during an accounting period but not
received by the end of it.

(qqSoq$ega0ps Assets BG[302:{gds Income A/C opé Dr Side eplelecioblaty)

Rdvance Received/ Income- (Liabilities)
Income that has been received before period time. This accuunt ls
reverse of Accrual Income Account.

([PBeEafegoopd Lia; D3202:gd08 Income A/C ¢ Cr Side ag&méq@
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Dr | Income A/C Cr
£ £
Rccrued b/d XX Advance b/d XX
Profit and loss A/C Cash and Bank A/C xx

Advance ¢/d Accrued c¢/d XX
XX
Rccrued b/d Advance b/d XX

Example: At the end of 31 Dec Year 2 , the interest on investment £ 500
has to be received during this accounting period but not get yet
in this accounting period. Prepare adjustment accounts,

Profit and Loss Account for this transation.

Dr Interest Income A/C Cr
5 g
Date Profit and Loss A/C 500 Date Income Accrued 500

Dr Accrued Income A/C Cr
5 5
Date Interest Income 500

(send to B/S under C.Asset§)
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Dr Profit and Loss A/C Cr
£ £
Date Interest Income 500

Hdvance Income Received Account is the reverse of Accrual Income
Account.

Rule of entry,
Debit- Inerest Income Account
Credit- Advance Income Account (transfer to B/S---under C.Liabilities)
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Depreciation Method and Provision for depreciation

Depreciation on fixed assets (s8o0500§8:eaqp0p05(gE:)

The measure of the cost or revalued amount of the economic benefits of
a tangible fixed asset that have been consumed during a financial period.

Causes of Depreciation
(1) Physical factors
2) Fall in market price
3) Time factors
4) Economic factors
(5) Obsolescence

(38eB8acomogeSqproh g8 38:aBSepmaqebip cqroycoyeotip 52§§EH
[3Seqpu B:goieqpadlepeacionp:saqiqpn cacdop§lgts 32050l coxpigt:odelos
[§8edlooneomyobBigyp:a’ madfqdearnsdaecdod $600b5bm0p8:8:0icq;
H0pdegapisaq ooy ogaiigtigdaop)

Method of Depreciation

(1) Straight Line Method, |
Annual depreciation = Oriqinal Cost - Scrap Value or Residual Value
Useful life(years)

or
= (Original Cost-Scrap Value) x Depn:Rate%(100/life)

Serap value/ Residual Value/ Disposal Valte = GoepSiogBafBopSonts:
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Example:
I Jan 2009 buy motor ven £500 , life 4 years, scrap value £100.

Annual depreciation = Original Cost - Scrap Value

Useful life(years)
= £500 - £100
4
= £100 per annum(s80d)
Dr Motor Vehicle Account Cr
g %
Year 2009 Cash 500 Year2009  Profit&Loss
Depreciation 100
e Balance ¢/d 400
50 50
Year 2010  Balance b/d 400 Year2010 Profit&Loss
| Depreciation 100
- B Balance ¢/d 300
400 400

Year 2011  Balance b/d 300 Year2011 Profit&Loss
Depreciation 100
Balance ¢/d 200

0 T
Year 2012  Balance b/d 200 Year2012 Profit&Loss
Depreciation 100
_ Balance c/d __100_
_200 200
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(2) Reducing balance Method,

Annual depreciation = Net Book Value(N.B.V) x Depn: %

Net Book Value(N.B.V)= Original Cost - Accumulated or provision for depn:

050>

(1)  cpbcoofgl:on8  Cost = Net Book Value(NBV) o8p8o0p5s
Depreciation = Provision for depreciation

(3)  Depreciation cBsS0r800E:80560megopEanoqé

(3)  Depreciation o3 Profit and Loss A/C [5E8c5q8s

(4)  Provision for depreciation A/C i opening cop5 =o{goo6: Credit(gSoopSe

Example: 1 Jan 2009 buy motor ven &500 , life 4 years, Depreciation 20%.

Answer,

31 Dec 2009 = £500 - £0 x 20% = £100
31 Dec 2010 = £500 - £100 x 20% = %80
31 Dec 2011 = £500 - £180 x 20% = £64
31 Dec 2012 = £500 - £ 224 x 20% = %51

Double entry for depreciation (expense)
Debit - Depreciation A/C
Credit - Provision for Depn: A/C
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Depreciation A/C
| 3
Date Particular folio Amo Date Particular folio Amo
unt unt
31-01-09  Provision 100 31-12-09 Profit & 100
for Depn: loss a/c
100 100
31-01-10  Provision 80 31-12-10 Profit & 80
for Depn: loss a/¢c
80 80
31-01-11  Provision 64 31-12-11 Profit & 64
for Depn: loss a/¢
b4 64
31-01-12  Provision < 1 31-12-12 Profit & bl
for Depn: loss a/c
5l 5l
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Provision for Depreciation A/(C

Date Particular folio

31-12-09 Balance c¢/d

31-12-10 Balance c¢/d

31-12-11 Balance c¢/d

31-12-12 Balance c¢/d

Amo
unt

100

P
—
o

180

oo
—

244

o
[ =
===

295

B2
0o
[

Date

31-01-09

01-01-10
31-12-10

01-01-11
31-12-1t

01-01-12
31-12-12

Particular  folio Amo
unt
Depreciation A/C 100
100
Balance b/d 100
Depreciation A/C 80
180
Balance b/d 180
Depreciation A/C 64
244
Balance b/d 244
Depreciation A/C 5l
295
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"Balance Sheet"
Cost Accumulated NB.Y
Depn:

Fixed HAssets

Motor Vehicle (Year 2009 900 100 400
Motor Vehicle (Year 2010) 500 180 320
Motor Vehicle (Year 2011] 500 244 296
Motor Vehicle (Year 2012 500 299 205

Debtor, Bad debt and Provision for Bad debt

Bad Debt (socfnp:ed:)

An amount owed by a debtor that is unlikely to be paid .The bad debts
must be written off from accounts.

(Debtor ad¢ qe§zaconiza000 wfea0megad edloopbiclnz:adegal q§dear
coefofigocSapouSabons)

The double entry in the joural ,
Dr  Bad Debt Account
Cr  Debtors Account

The finail accounts entry,
Dr  Profit and Loss Account
Cr  Bad Debts Account

(098:805a0065038 cpoSecodaosSienet:dobagt Profit & Loss A/C G88c5qurs)
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Example, Debtors £5000 , Bad Debt written off £100.
Show Debtor Account and Bad Debt Account.

Dr Debtors Account Cr
| £ %
Date Balance bh/d 5,000 (| Date Bad debts 100
Balance ¢/d 4800
I (Balance Sheet --- C.Assets)
9,000 5,000

e ———————————— e S e

Dr Bad Dehts Account Cr
3 5
Date Debtors A/C 100 ||Date Profit & Loss 100

Provision for Bad debt(Doubtful debt) (cfop:ed:cqpoonigiod)

An amount set aside out of profits for doubtful debt is called provision for
doubtful debt. It is usually made by taking a suitable percentage on Sundry
debtors. It is provided from profit and will remain in Balance Sheet. We must
show it under the Debtor balance with "less"mark.

(90§iegaprady 83e{0giayo§Eaanapitshionde ooy elagihiagpooo
@&Eﬁmélg&cﬁ) Balance Sheet i Debtor quogog&?cﬁameiuél

Provision for Bad debt(Doubtful debt) o5 opening aopS=afgoné: br- side [gBoopSs
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The double entry are,

(eqpoon:oopSan§diconSeoyPagie elogedddion - Profit and Loss A/C of expense
esm00pboxqEoptiaR)

Dr  Profit and Loss account

Cr  Provision for doubtful debts Account

(aqpoon:o0pdon§B:c005500:6) clog:e9:3lon-Profit and Loss A/C & Income
63200502002 50pEx3)

Dr  Provision for doubtful debts Account

Cr  Profit and Loss account

Example:  Bad debts written off £300 during the year 2. Provision for
doubtful debts is to be remained 5% on Debtor £4700, after debts
written off. Provision for doubtful debt is £280 at previous yearl.
Show accounts relating to the above given.

Dr | Debtors Account Cr
% %
Date Balance b/d 9,000 |{Date Bad debts 300
Balance c¢/d . 8,700
(Balance Sheet --- C.Assets)
9,000 _9.000
Dr Bad Debts Account Cr B
% )
Date Debtors A/C 300 | Date Profit & Loss 300
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Dr Provision for doubtful debt Account Cr
3 3

Date Balance ¢/d 435 |{Date balance b/d 280

Profit and loss 159

(Provision §%)
_435

i

Provision increased £155. It will be loss and debit entry to Profit and loss A/C.

working note: Before bad debt written off = 9000
Rfter bad debt written off = 9000-300 = 8700 x 5% = 435

(In Balance sheet under the Debtor balance with "less"mark.(8700-435)=826%

Dr Provision for doubtful debt Account Cr

3 £

Date Profit & Loss 106 || Date balance b/ d 280
(Provision 2%)

Balance c¢/d 174

_280 |

e}

80

|

Provision decreased £106. It will be profit and credit entry to Profit & loss A/C.
In Balance Sheet under the Debtor balance with "less" 174 (8700-174)=8526 .
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Bad Debts Recover (co3:ed:{a$o§aS:)

Successful recovery which was written off as lost in one accounding
period to the profit and loss account.
The double entry are,

(cobgbmcqiragBeopSafiogBofisgrooBigocSyrbeniqpaienefiogiiagecdd)

(within the financial year)
Dr  Debtor Account or  Cash Account
Cr  Bad debt expense account or  Debtor Account

(after the financial year)
Dr  Cash Account

Cr  Bad debt recovered account
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Sole Trader (0088:0005:8E06c§:)

An individual who runs an unincorporated business on his or her own is
known as a Sole Trader.

(opqp:5E0doRapdfglietnodd 880n8ionpd:a8:00§00603C e oonnpdesiad e sloopdi)

Final Account (eg00Da3:33(G:0005 3200p0{gde o egedgC:)
Trading Account & Profit and Loss Account are called Final Account.

Example

The following Trial Balance have heen extracted from the books of 'Jone' at 31
December Year 2012, R sole trader.

Dr Cr
g £
Motor Vehicle at cost 9,600
Machinery at cost 25,000
Land and building 10,000
Debtors and creditor 5,140 4,950
Purchases and Sales 19900 49,500
Stock at | January 4990
Bank 3,550
Cash In hand 800
Return inwards and outwards 220 558
Carriage inwards 190
Discount allowed and received 400 650
Advertising 2,300
Interest on Loan | 625
Carriage outwards 300
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Light and heat 3,000

Travelling Expenses 2,900

Wages and salaries 1,100

Rent 2,350

Postage and stationary 1,153

Provision for depreciation at | January ,

Motor Vehicle 3,450
Machinery 4310
Drawing 4500

Capital 88,000
Provision for doubtful debt 300

Loan, from 1 Jan 2011 & 2012 at 10% per annum 12,500

Additional information,

(1) Stock at 31 December 2012 value at £5280.

(2) Depreciation,
(i) Machinery at 20% per annum using the reducing balance method.
(11) Motor vehicle at 2% per annum on cost.

(3) Wages and salaries prepaid £ 150

(4) Light and heat is accrued £150 at 31 December 2012.

(5) Adversiting of £450 had not yet been paid.

(6) Provision for doubtful debts is 5% of closing debtors.

Required
Prepare for Trading and profit & loss Account for the year ended 31 December
2012. Prepare a Balance Sheet extract at 31 December 2012.
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Answer, -

Trading Profit and Loss Account for the year ended 31
December 2012

$ H 5
Sales 49500
(-) return inwards _(220) 49280
less Cost of good sold
Opening stock 4990
Purchase 19,900
(-) return outwards (958)
(+) carriage inwards 190 19,532
24 522
Closing stock (5,280) 19,242
Gross Profit 30,038
(+) Incomes
Discount received 650
Note(6) Provision for doubtful debt 43
30,131
(-} Expenses
Discount allowed 400
Rdvertising(£2300+£450) 2,150
Interest on Loan 1,250
Carriage outwards 300
Light and heat(£3,000+%150) 3,150
Travelling Expenses 2,500
Wages and salaries (£1,100-£150) 6,950
Rent 2,950
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Postage and stationary 1,153

Depreciation,

Machinery (£25,000-£4,310)x20% 4138

Motor Vehicle (£9,600x2%) 192 (25,133)
Net Profit 4,998

Balance Sheet Extract at 31 December 2012
Original Cost  Acc: Depn: NBV

Fixed Assets 5 £ B
Motor Vehicle at cost 9,600 3,642 5,958
Machinery at cost 29,000 8,448 16,552
Liand and building 10,000 10,000
92,510
Current HAssets
Closing Stock 5,280
Debtor 5,140
(-)provision for doubtful debt 251) 4,883
Bank 3,950
Cash In hand 800
Prepaid 150
14,663
Current Liabilities
Creditors 4950
Accrued , Light and heat 150
Rdversiting 450 |
Loan interest 629 (6,175) 8,488
NET CURRENT ASSETS/WORKING CAPITAL 100,998
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Finance By,
Capital 88,000
(+) Net Profit 4998
() Drawing (4,500)
Long term liabilities 12,500
100,998
(OR)
Balance Sheet Extract at 31 December 2012
Original Cost | Acc: Depn: NBV
Fixed HAssets 5 % %
Fixed Hssets
XX
Current Assets
Stock X
Debtor X
Cash and Bankx X
Prepaid X
0
Current Liabilities
Creditor X
Accrued X x) XX
Net Current Assets/Working Capital XX
Finance By | |
Capital XX
(+) Net Profit XX
(-) Drawing | | ()
Long term liabilities : XX
XX
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Partnership Accounts (32006 ooqg:)

An association of two or more people formed for the purpose of carrying
on a business.

(3800059 $6c00500038¢jgopbi00eanpte fagER0pb e o)

Business ooo5¢[303q§ Partner ooo5¢{o3059$
(Profit for the year)

(+)Interest on Drawing (income-Cr) corefgC:(expense-Dr)
Partner 9opOe§ieiegonododoopdaaslanbeswsacieact:

(-) Interest on Capital (expense-Dr) egqg:(income-Cr)
Partner G‘ﬂ'q&gzegmémam:-fsdl't\?ﬁc&?mo%mm@&

(-) Salary (expense-Dr) egefg:(income-Cr)
cpde§iecomaozefals

(-) Share of Profit (expense-Dr) cgefas:(income-Cr)
gBofgmfoSegieocoid

As per Partnership Act 1890 , if Partnership have no agreement

* partners share equally in the profits & losses of the partnership;
cogaipSopgeoat)

* partners are not entitled to receive salaries; (coondonigfnd)

* partners_are not entitled to interest on their capital,
(ec:B:egadionanodidongtel)
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* partners are not paid to interest on their capital;
drawing;(ooobodegediogEaaciiecuiq)

Partnership Final Accounts,
-Trading Profit and Loss Accounts
-Profit and Loss Appropriation Account
-Balance Sheet
R and B Partnership
Profit and Loss Appropriation Account for the year ended xxxxx.

£ | & £

Net Profit for the Year XX
(+) Interest on drawing

R (Drawing x % ) XX

B (Drawing x % ) XX | XX

XX

(-) Interest on Capital

A (Capital x % ) XX

B (Capital x % ) XX | xx
(-) Partner's Salaries

A XX

B | xx o bo)
Residual Profit XX
() Share of Profit

A XX

B o | o)

| _0
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Profit & Loss Appropriation A/C §soqoSsacocSqp:o3 Partner's Current A/C

Dr Partner's Current A/C (22008 00g&:980098:)  Cr
Balance b/d X XX Balance b/d XX XX
Drawing xx  xx || Interest on Capital xx  xx
Interest on Drawing xx  xx Partner dalary X  xx
Balance c¢/d XX XX Share of profit  xx XX
Balance ¢/d XX XX
X XX XX XX

Balance b/d xx  xx || Balance b/d XX Xx

Dr Partner's Capital A/C (20006 q&:&:cconq8: Cr
| B A B
Capital Withdraw  xx  xx || Balance b/d XX XX
Balance ¢/d XE> XX Rdditional Capital xx  xx
XX XX XX XX
Balance b/d XX XX
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A and B
Balance Sheet as at xxxoooxx.

Fixed Assets XX
Current Assets XX
Current Liabilities XX
X
Finance By
Capital A/C
A XX
B XX XX
Current A/C
A XX
B XX XX
Long-term liabilities
% loan XX
Total Capital Employed XX
Example,

R and B are have been in partnership at Yearl. Their partnership agreement
contains as the following.
Their accounts balance at 1-April-Yr3 is as below.
A B

(1) Capital balance £ 20000  £15,000

Drawing balance £15000  £12,000

Current Balance £1,800 £1,000
(@)  Net Profit for the year £125,000.
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(3)
(4)
(%)
(6)

for the financial year, Interest 1s to be charged at the rate of 10% of each
partner's drawing.

A and B entitled to an annual salary £500 and £300 on the net profit for
the year.

Interest of 5% per annum is to be allowed on the balance of each partner's
capital at the beginning of the financial year.

Profit and losses are to be shared hetween A and B in the ratio of 2:1
respectively.

Required,
Prepare the Profit & Loss Appropriation Account for the year ended 31-Mar-Yrd.

Answer,

R and B Partnership

Profit & Loss Appropriation Account for the year ended 31-March-Yeard.

| A %

Net Profit for the Year 83,000
(+) Interest on drawing

R (15,000 x 10% ) 1,500

B (12,000 x 10% ) 1,200 2,100

81,100

(-) Interest on Capital

R (20,000 x 5% ) 1,000

B (15,000 x 5% ) __150 1,150
() Partner's Salaries ;

i 500

B 300 800 (2550)
Residual Profit 85,150
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(-) Share of Profit (2:1)

B (@5150x2,) 96,167
B (85130 x1,) 28,383  (89,130)

_0

(Profit & Loss Appropriation B/C §soqoSeocoodyp:od Partner's Current A/C
38eaepdy)

Dr Partner's Capital A/C Cr
| B A B

Capital Withdraw xx xx || Balance b/d 20,000 10,000

Balance ¢/d 20,000 10,000 Additional Capital xx  xx

20,000 10,000 _20,000 10,000
Balance b/d 20,000 10,000

Dr Partner's Current A/C Cr

A B A B
Balance bh/d xx xx || Balance b/d 1,800 1,000
Drawing 15,000 12,000 Interest on Capital 1,000 150

Interest on Drawing 1,500 1200 || Partner salary 500 300

Share of profit 56,161 28,383
Balance c¢/d

60,067 30,433 60,067  30.433

43961 17,233

Balance b/d
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Balance Sheet as at 31-March-Year4
Fixed Assets
Nil XX
Current Assets
Nil XX
Current Liabilities
Nil (xx)
Finance By
Capital A/C
A
B 30,000
Current A/C
A
B 60,800
Long-term liabilities
% loan XX
Total Capital Employed 90,800
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Partnetship Revaluation of Asstes and Goodwill (soepSeox€:sé
SSRel Cieteat KBt veseskar o b )

(1) Outgoing old partner (sspoSeumné:ogaSogifat:)

(2) Incoming new partner (sspoloobod:anfgls)

(3) Change in partnership interest (partnership ssof8:goicgp€:cd[gé:)
300090l326[g3265008996 0000058 600aWIll $&3EBEaqp:00§:qEaoaS

200500(g:09320: 680EGNDG0520p0!

Adjustment

() Revaluation of Assets & Liabilities
(ii) Goodwill Adjustment

(ii)) New Partner Capital Introduce
(iv) Retire Partner Capital Withdraw

Balance Sheet scco€:s& mocpEimacdodgqdypieo: coniepdi 6E:( J)90p
s00500¢] Balance Sheet so008[3§3efa€g800p5

welgpCiancdaBeqdapio maelgpliaacdomnf{gé Balance Sheet soaobopé
copdAl

(1) Outqoing old partner (sagoeun:iogodaxrgé:)
ago’ognieommgobeundanes03dl(p) ateglufastianydoorts

- Captial A/C and Current A/C balance

- Goodwill

- Revaluation Profit

0Q05932:6003290E 6uUE120905 cx?ﬁc@:msgm@émaum&g&nﬂ&
0§ EoNGELEIMN? Loan GEHGOIOOPIN
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Capital Introduce by new Partner

Cash A/C - Dr
Fixed Assets A/C - Dr
Capital A/C - Cr
Capital withdraw by 0ld Partner
Cash A/C - Dr
Fixed Assets A/C - Dr
Capital A/C - Cr

Two type of Revulation,
(1) Upward revulation (increase amount of EA) Note* FE.A=Fixed HAssets

Balance Sheet amount(-)revalue ----> increase
Dr:  Assets A/C
Cr:  Revaluation A/C

(2) Downward revulation (decrease amount of LA)
Balance Sheet amount(-)revalue ----> decrease

Dr:  Revaluation A/C
Cr:  AHssets A/C

Assets qp:aooBimacagpoopifBieornsadl Revulation A/ € oB=qE8050k
sgaafgodedeondion old %%w%ﬁ old partner capital ﬂ/ch 033

Create Provision for Bad Debt

Dr:  Revaluation A/C
Cr:  Provision for Bad Debt A/C
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Profit on Revaluation
Dr:  Revaluation A/C
Cr:  Old Partner A/C

Loss on Revaluation
Dr:  Old Partner A/C

Cr:  Revaluation A/C

Example. R , B and C are partnership.

Balance Sheet extracted On 31-Mar-2009 ,"R" retire and
31-Mar-2009 revalued Assets as follow

Fixed Assets

land & building  £10,000 land & building  £15,000
Machinery £9,000 Machinery £3,000
Current Assets

Stock £5,000 Stock £4.000

Debtor £4000 Create provision Bad Debt £1,000

Require, Prepare Revaluation A/C and Capital A/C extract.
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Answer, -
Dr Revaluation A/C Cr

Machinery 2,000 " Land and Building 5,000

Stﬂﬂk[5,000-4,000] decrease | ,0{]0 [10,000-1 5,000]!&5’:?3:9
Provision for Bad Debt 1,000

Profit capital A/C
A(1,000x1/3)=333
B(1,000x1/3)=333
C(1,000x1/3)=334

B C
Revaluation ¢/d x X x | Balance b/d x X X

Revaluation 333 333 334
Profit

$0000000000000000000000000¢ nﬁﬂnn#i 0000800000000 000040000¢0¢
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Two type of Goodwill,

(1) Valulation of Goodwill ( Goodwill oo§8:0005q105(5¢:)
Goodwill = Total Profit  x Year of purchase
no: of year

(2) Accounting treatmark of Goodwill (Goodwill socomEségE5¢805[E:)

(i) Opening new Goodwill A/C (old capital R/C s8svcomnelas)
Dr:  Goodwill A/C
Cr:  0ld Partner Capital A/C (old ratio)

(ii) Closing Goodwill A/C (new capital A/C s€avcomEeas)
Dr:  New Partner Capital A/C (new ratio)
Cr:  Goodwill A/C

(cw:g$:09€ Goodwill A/ CaB38c5upSaddlen Balance SheetopSasdiga§ecd)

Example: B & B partnership profit equally . Admitted new partner C.
Revaluated Goodwill as £60,000. A, B & C are partner sharing profit
equally. Show in Balance Sheet as Fixed Assts.

R &B ,old ratio -------> 'C' partner admitted --------- > R ,B & C ,new ratio
172, 1/2 173,173,173
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Answer,
Dr Goodwill A/C Cr
% %
Old Partner Captial 60,000 || Balance ¢/d 60,000
A(60,000x1/2)=30,000
B(60,000x1/2)=30,000
60,000 60,000
. Patner Capital A/C :
i B | i B
Capital c/d @ () (@) [Balance b/d  x X X
Bank X X X
Goodwill 30,000 30,000
Example: The partner do not wish to shown Goodwill A/C in Balance Sheet.
Dr Goodwill A/C Cr
§ £

Partner Captial A/C(old ratio) 60,000
R(60,000x1/2)=30,000
B(60,000x1 /2)=30,000

Partner Captial A/ C(new ratio)60,000
A(60,000x1/3)=20,000
B(60,000x1/3)=20,000

C(60,000x1/3)=20,000
60.000_ | 60,000

B B

C “
Goodwill A/C 20000 20000 20000 (| Balance b/d

Goodwill

Patner Capital A/C

A B
X X
X

Bank X

30,000 30,000
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Manufacturing Account (op§cocbopdeengés)
Statement used in accounting process of a manufacturing organization.

This financial statement does not show profit and loss figures but rather the cost
of direct materials and labor. A manufacturing account also includes production
overhead.

(078000500690r¢E 0305§adma03gie 000 M&[03:gPH 3ppEa0wWOYR: $
0p05CROSE00520056 0 F0RododRInPa0pdaE e qafaClydoopdn)

Raw Material is the basic material form which a product 1s manufac-
tured or made, is in an unprocessed or minimally processed state. Examples
include steel plate, wood and chemicals.

(09050p6epopEenndigepd epdo0pdmeepste eepodonigiegenieonn
amgelgepbaeooraopdasalgnpioasrogabigboogh)

Manufacture is process of making something (a product) from raw
materials by hand or by machinery especially on a large scale.

- Direct Materials that are directly incorporated in the final product. For
examples, direct materials would include wood, glue and paint etc..

(op$0gpbiop0dcgdygaango’d oBodfodmeadigqeanugpSigpiodesioopd)

Direct wages or Direct Labour that workers directly concerned with the
production of a product.

(opfogebiopodapbpop apoiiodnpbaeamaanpbaounigpioiesioopi)
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Manufacturing Account for the year ended...
(00050pEeE 005038 commmagodygp:ocnagté)

3 3 %
Direct Material Cost(cost of sale)
Opening stock of Raw Material(R.M) XX
(+) Purchase of Raw Material XX
(+) Carriage Inward of RM XX
(-} Return Outward of R.M (xx) | xx
XX
(-) Closing Stock of Material ) f xo
Direct Labour Cost/Wages XX
(+) Accrued XX XX
Direct Expense XX
Prime Cost (0253:008030805) XX

Factory Overhead/Production Overhead
(cqobogbymogaageSBadeammspSifandbedonnmaptdodap)

Indirect material XX

Indirect labour XX

Indirect expense XX

Factory expense XX

Depn: on plant & Machinery XX | _Xx_
Production/Factory Cost XX
(+) Opening Work in Process(WIP) ([gop6+d) XX
(-) Closing Wnrk in Process(WIP) ~xx)
Cost of Goods completed XX
(+) Manufacture Profit XX
Cost of finished Goods produced XX

(Transfer to Trading Account ....purchase sses{gS3sE:)

%
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Trading Profit and Loss Account for the year ended...
(qu&aﬂf%mogaﬁgemqjo&tp:maa&q%

£ % %

Sale XX

(-) Sale Return (xx)] xx
() Cost of Sale

Opening stock of Finished Goods(EG) XX

(+) Cost of EG produced (from manuf: A/C) XX

(-) Closing Stock of Material (xx) | (xx)
Gross Profit XX
(+) Incomes XX
(-) Expenses (xx)
Net Profit XX
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Balance Sheet as at ...
Cost Pro:for NBY
Depn:
Fixed HAssets
(GB)&(\%&:Q%) XX
Current Assets |
Closing Stock-Raw Material XX
WILP XX
Finished Goods XX
Debtor XX
(-) Provision for doubtful debt| (xx) XX
Prepaid expenses XX
Bank XX
Cash XX
XX
Current Liabilities
(cfp8:c3gé:0d) (xx) XX
Working Capital XX
Financed By
Capital XX
(+) Net Profit XX
()  Drawing _(xx). XX
Long-term liabilities
% Loan XX
Total Capital Empolyed E
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Example: "YP" factory gave the following Trail Balance at the end of account-
ing period 31-Dec-Year 3.

Dr Cr
g £
Machinery at cost 15000
Purchase of Raw materials 4410
Stock at 1 Jan Year 3,
Raw Material stock 3000
Finished Goods stock 1550
Work In Process 850
Carriage Inwards 130
Direct wages 460
Electric Power : 1000
Office - £ 200 and Factory £ 800
Rents: 300
Office - £ 50 and factory £ 250
Staff Salaries: 2050
Office - £ 350 and factory £ 1100
Factroy repairs 200
Sales 19000
Debtors balance 1960
Creditors balance 1800
Bank Balance 6120
Gerneral office expenses 110
Sales expenses 160
Capital Balance 16500

31300 31300
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The following additional information is available.
(1) Stock at 31 Dec Year 3,

Raw Matefral 1200
Work In Process 2100
Finished Goods 1050

(2) Depreciation on Machinery £ 600.
Required,

Prepare Manufacturing Account of "YP" factory Trading Profit and loss
Rccount and Balance Sheet.
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Rnswer,
Manufacturing Account for the year ended...
3 (Mmcﬁﬁ&smaﬂosquag&sﬁ,)
£ g %

Direct Material Cost(cost of sale)
Opening stock of Raw Material(R.M) 3000
(+) Purchase of Raw Material 4410

(+) Carriage Inward of R 130 | 4540
(-) Closing Stock of Material (1200)
6340
80
6800

Direct Labour Cost/Wages
Prime Cost (on§8:078030805)

Factory Overhead/Production Overhead

Electric Power

Rents

Staff Salaries

Factory repair

Depn: on Machinery
Production/Factory Cost 2950
(+) Opening Work in Process(WIP)
() Closing Work in Process(WIP)
Cost of finished Goods produced
(Transfer to Trading Account)

850
(2100)
8500
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"YP" Factory
Trading Profit and Loss A/C for the year ended 31 Dec Year 3

Sale
(-) Sale Return

(-) Cost of Sale
Opening stock of Finished Goods(EG)
(+) Cost of EG produced (from manuf: A/C)
(-) Closing Stock of Material
Gross Profit
(+) Incomes
(-) Expenses
Electric Power
Rents
Staff Salaries
General office expense
Sales expenses

Net Profit

(3000)
10000

(1410)
8530
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Balance Sheet as at 31 Dec Year 3

NBV
Fixed Assets
-Machinery 14400
Current HAssets
Closing Stock-Raw Material
WILP
Finished Goods
Debtor
Bank
Current Liabilities
Creditors 10630
Working Capital 25030
Finance By
Capital 16500
Net Profit 8530
29030
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Stock Valuation (op§ogoSicooSoq§on§8iopadaoifas:)

Two type of system,
(1) Peroidic stock system (orncoonb9fB:oondeczadqedge:)
(2) Perpetual stock system (e5co05eq0S 0g05q105gE:)

There are three type of method.

First In First Qut Method (FIFQ) - s3q@o€aag8agadspb:
Last In First Out Method (LIF0) - esnoSedio8aaqEogadspd:
Weight Average Cost Method (WAC) - sseco:§§qéiqseS:

(1)
(@)

Stock valueogoSepog€ Cost ~ N.RV §E:008[8: 5 0005 eqrsSogodaé
Stock 0o§8:03 Cost [§6ax 0005¢0Ba0p5r Sale or selling price

[g€ewiconag€ Cost[g§aG:ozoqés
B) [gEeoCe§rqi€editi
(4)  Sale or return basic c3oocBoonqf
(9)  Stock sheet op€8cdlE:00m:09E [g§ $05q§1 BelE:00mnq € [g§ e
6)  eqpodqoSogabiupifieg sodaie
Example:
S unit  purchase price

Stock at 1 January Year | 250 0.64
Purchase: 12 Jan 500 0.6T

25 Jan 500 0.68

10 Feb 600 0.66

18 Feb 400 0.10
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Sales: 20 Jan 600
20 feb 1500

Required

(1) First In First Out Method (FIF0)
(2) Last In First Out Method (LIFQ)

(3) Weight Average Cost Method (WAC)

(1) First In First Out Method (FIF0) - soqfoSaaqSogodspS:

Date  Reference Purchase Sale Balance
Unit Price Amt|Unit Price Amt |Unit Price Amt
0l-Jan balance b/d 250 0.64 160
12-Jan 500 0.67 335 900 0.61 335
150 495
20-Jan 250 0.64 160 (150 0.6T 101
350 0.61 235
600 395
25-Jan 500 0.68 340 500 0.68 340
10-Feb 600 .0.66 396 600 0.66 396
18-Feb 400 0.70 280 | 400 0.70 280
1650 11117
20-Feb 150 0.67 101 |150 0.70 105
500 0.68 340
600 0.66 396
250 0.10 175
1500 1012
Cost of sales 1407{395+1012})
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(2) Last In First Out Method (LIF0) - cso05ed:083080p05spS:

Date  Reference Purchase Sale Balance
Unit Price Amt|Unit Price Amt [Unit Price Amt
01-Jan balance b/d 250 0.64 160
12-Jan 500 0.67 335 500 0.61 335
150 495
20-Jan 500 0.67 335 (150 0.64 96
100 0064 64
600 399
29-Jan 500 0.68 340 500 0.68 340
10-Feb 600 0.66 396 600 0.66 396
18-Feb 400 0.70 280 400 0.70 280
1650 1112
20-Feb 400 0.70 280 (150 0.64 96
600 0.66 396
500 0.68 340
1500 1016

(Cost of sales1415{399+1016)
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Weight Average Cost Method (WBC) - eco:gSoS:qsad: (Peroidic system)
Date  Reference Purchase Sale Balance
Unit Price Amt| Unit Price Amt |Unit Price Rmt
01-Jan balance bh/d 250 0.64 160
12-Jan 500 0.67 335 500 0.61 335
150 0.66 495
20-Jan 600 0.66 396 |150 0.66 99
29-Jan 500 0.68 340 500 0.68 340
10-Ieb 600 0.66 396 600 0.66 396
18-Teb 400 0.70 280 400 0.10 280
| 1650 0.68 1115
20-Feb 1500 0.68 1020 {150 0.68 102
Cost of sales 1416{396-+1020}

Stock Taking (forward), when physical stock taken before the year ended.
($0e9:066p050C 0dOYSEEEND co0S|gC:)
(coneomaddagenonpaacitiugqs (0f:+,609p-))

25 Mar-Yearl 31 Mar-Year|
I T 3y 1T 1
opening +purchase -sale 77?7

Stock Taking (Backward), when physical stock taken after the year ended .
(@a@:q&mogrrﬁmq&dﬁugmcﬁa:ﬁquﬁqc‘-;mq&camog@&)
(e§0050qpenqieoncidagteldlgsopas (of:-,e0qp+))

9 April-Year2 31 Mar-Yearl
_
opening -purchase +sale 777
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Stock value at 1 April Year 1 XX
(31 Mar Year! to 9 April Year2)

()  Purchase (xx)
(+) Purchase Return XX
(+) Sales (convert to cost) XX
()  Sale Return (convert to cost) (xx)
(+) Goods Drawing XX
Stock value at 31 Mar Year2 X
Example:

T Merry's financial year ended on 31 December. He didn’t take his stock at
31 December year 3.It was taken instead on 8 January Year 8 when it was valued

at cost 20,150.

The following information stock at between 31 December Year 3 and 8

January Year 4:

(i) purchase received from suppliers
(i) goods sent to customers at selling price

(iii) sales returned from customers at selling pirce

(iv) purchases returned to suppliers at cost

(v) goods taken at cost for his own private use
He uses mark up 50% on cost to selling price

£

4900

9930
180
250
600
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Required
(a) Calculate the value of T Merry's closing stock at December Year 3.
Answer,
%

Stock valued at 8 January Year 4 20,150
1) purchase (4,900)
ii) Sales 6,620
iil) sales returned (120)
111) purchase returned 250
V) Drawing 600

22,600
Working Note

mark-up 50% (co:9§:058cepliaqrs§aoioononpdeaogod bost [g§3euqgé:)
Cost 100 — Gross Profit 50% — Sale 150%

sale 150 — cost 100

sale 9930 — cost ? =9930/150 x100 = 6620

Sales returned
sale 150 — cost 100

sale 180 — cost ? =180/150 x 100 = 120

Stock valued at cost or net realisable value(NRV)
Cost (Purchase Cost + Carriage Inward)
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Net realisable Value(N.R.V)

Rctual or Estimated Selling Price(cep&:cqy) XX
(-) Futher Cost (G:?.ﬂoSmSo?%oqu]dﬁ) XX
Selling & Distribution Cost((s§fgpfe8:0805)  xx  (xx)
NRV XX

(Stock value opoSepopé Cost ~ NRV §E:0p8[8:3 20pd eqpsforoacdyodef)
#k¥%  Cost < NRV (normal)
Cost > N.R.V (exceptional)

Example:

1) Closing stock at 31 Dec Year 3 100 unit

2) Purchased this stock at cost of £15 per unit

3) Estimated sales value at 31 Dec £20 per unit and updating cost for sale £3
per unit and delivery charges £2 per unit respectively.

Answer
Calculation of stock value
Cost (Purchase Cost) £100
N.R.V per unit,

selling price £120

futher cost £15

delivery charges £ 10 (£25)

| £95
Stock valuation at 31 Dec Year 3 = £95 x 100 unit
= £ 950
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Stock Losses Calculation(expense) (op§opSogpbiegqpadogadeodgts)

Opening stock XX

(+) Purchase XX

()  Sales (xx)
Closing stock book value XX
Closing stock physical XX
Stock loss XX

(r§ogSogeSreqpobogiqpipoSopfosSediopiacpiigcf
0268100338 0B0§$E BouSGeanmbconiogseat: ojodas)

Example

Opening stock of stationaries £500

Purchase during the year £400

Closing stock physical £350

Answer |

Opening stock 900

(+) Purchase 400

()  Sales -
Closing stock book value 900
Closing stock physical 350 (Balance sheet--under C.A --stock)
Stock loss 950
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Stationaries A/C

—_— ——
Date  Balance b/d 500 Date  Closing stock 350
Purchase 400 Profit and loss A/C 550
(Stock loss)
300 _900
Adjustment for Stock

Our stocks on customer hand (the goods that are sent to and received by
another.

(88m§0pS0gn5:03 angpiadoytespligsdoonsgts eepieogndeon: olon
SBeliconoqhpbogpbiogaddpogtedticoiprds

Customer stocks on our hand (the goods that are in-hand and already sold
to customers.

(55@$ﬂéugé:o$ agqp:ﬁog&mqv&m:@:@&z:o%mé: (Gustomer 9
CODLORGI:O0PIZIROD 88eicomo§mEogndiogod§Eont $05 quodi

+ -
Stock before adjustment XX
(+) Our stocks on customer hand XX
() Customer stocks on our hand XX
xx | x | xx(+/)
X
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Limited Company

Profit and Loss Appropriation Account for the year ended xxxxx.

£ £ g
Net Profit for the Year XX
+) opening retained profit XX
-) Goodwill written off XX
-) Transfer to Reserve (Note) XX
-) Dividend
Interim dividend
Ordinary Share XX
%Preference Share XX | Xx
Propose dividend/final dividend Ul
Ordinary Share XX
%Preference Share Xx | xx | (xx)
Closing Retained Profit for the year XX

Ruthorised Share = 9a8d0nEg8qo0pSquSum
Issue Share = cooBeepSigopdguSon
Ordinary Share = oonenfquSon
Y%Preference Share - é:m:tsmeﬂcﬁm
Share Premium = quSoonzadelos:

Reserve = gfdeg
Retained Profit = gfcu508§:036:000100p93(40d
Dividend = 3|gode09

(329§ 000nuSonodeoaepE:qeorn Issue Share ssedlopevieny§oopdi salgodeop

oR0depop, [geurdon egoomaacdlopogade Per S]]HIBU?GEPJCD Share conteq
60lopEoR05dl)
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p—

Interim dividend =[oo

:lgod3a[g05609 (0e$30dg¢ $0mSemlgodeonsuiand

620500p5: 0681006§ozE 58005038 c0i0g §oopSe 0.share
20905 G00H000GC:e§Ol PShare 20R005000532(40d
60920p5 05§00260:0R) VIMEI020050303(gdoopd)

Final/Proposed dividend
Goodwill
Debenture

Example:

= G§n0dad:30[g0de09

= snwpbeoxd: (Intingable EA investment)

= egeqrooqud (Debenture gpieaogoS3203:03
cggxngumum{su:guzg&mo%:?; saa?:&ogcﬁ@u:quéu
jgpdEr0e60:coRAID B/S opé Accrued cedfeuiaepd)

Painting Ltd has prepared accounts for the year to 31 Dec 2000. The following
balance have been extracted:

%

Net profit for the year to 31 Dec 2000 54500
Interim dividend: Ordinary shares 25000
Preference shares 4000

Issued Capital, Ordinary shares 390000
8% Preference shares 100000

Profit and loss account balance at 31 Dec 2009 15300
The directors have recommended that a final dividend of £0.05 on the ordinary
shares capital should be paid.

Required,

Profit and Loss Appropriation A/C for the year ended 31DecYear2000.

9990090000000 0090600000PO00S Hﬁﬂ ﬂuqu P00 00000000600000000060009



Free for All

runiegyaj:q) nelgdenqC:nfCupn (30iwic:) @

Rnswer,

Profit and Loss Appropriation Account for the year ended 31 Dec Year 2000.

i % H
Net Profit for the Year 54500
(+) opening retained profit 15300
69800
() Dividend
Interim dividend
Ordinary Share 23000
%Preference Share 4000 {29000

Propose dividend/final dividend
Ordinary Share(390000x£0.05) 19500

%Preference Share 4000 |23500 | (52500)
(100000x8%)-interim dividend4000
Closing Retained Profit for the year 17300

Balance Sheet as at 31 Dec Year 2000.

Finance By: Capital & Reserve

Ordinary Share Capital 390000
% Preference Share Capital 100000
Share Premium .

Retained Profit ¢/d 17300

General reserve

507300
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Control Accounts (c3§:q(600q8:qp:)
Rccount is general account that displays balances on a substantial number
of subsidiary accounts.

Control Accounts are only entry to related with credit sale and purchase. No
need to entry cash sale, purchase sale and provision for doubtful debt.

(226[0g:005 166815 E 00500056 000006 C14pi0on93E:qepdi conde:aepEiondge:
$& elonred:0qpoonigodgPE0} ©0RC:aCh)

Type of Ledger and Control A/C,

(1) Cash Book (Including Cash and Bank A/C)

(2) Sale Ledger (Including all debtors account)

(3) Purchase Ledger (Including all creditors account)
(4) General Ledger (Including all A/C except Debtor ,Creditor, Cash, Bank)

Sale Ledger Control Account(Total Debtor A/C)

Y £
Balance b/d (major) XX Balance b/d (minor) XX
Credit Sales XX Sale return XX
(sale day book total) (sale return day book total)
Bill Dishonour XX Cash XX
Cheque Dishonour XX Bank XX
Cash refund XX Discount Allowed XX
Debt collection Fees XX Bad Debt XX
Legal charges XX Bill Receivable XX
Purchase Ledger(contra) xx
balance c/d (minor)  xx balance ¢/d (major) ()
o T
Balance b/d XX Balance b/d B
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Credit Sale: Sale ledger Control A/C Dr
Sale A/C Cr

Sale Return: Sale Return A/C Dr
Sale ledger Control A/C Cr

Cash receive from debtor: CashBankBill A/C Dr
(Cash,Bank Bill receivable) Sale ledger Control A/C Cr
Dishonoured Cheque: Sale ledger Control A/C Dr
Bank A/C Cr

Discount Allowed Bad debt: Discount Allowed Dr
Bad debt A/C Dr

Sale ledger Control A/C Cr

Debt collection fee/: Sale ledger Control A/C Dr
Liegal expense Cash or Bank A/C Cr
Cash Refund: Sale ledger Control A/C Dr
Cash A/C Cr

Contra : Purchase ledger Control A/C Dr
Sale ledger Control A/C Cr
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Purchase Ledger Control Account(Total Creditor A/C)

H £
Balance b/d (minor)  xx Balance b/d (major) XX
Purchase return XX Creditor Purchase XX
(purchase return day book) (purchase day book total)
Discount Received XX
Cash,BankBill payable xx
Sale ledger(contra) XX
balance ¢/d (major) @ balance ¢/d (minor) XX
BT X
Balance b/d xx | Balanceb/d X
Credit Purchase:  Purchase A/C Dr
Purchase ledger Control A/C Cr
Purchase Return:  Purchase ledger Control A/C Dr
Purchase Return A/C Cr
Discount Received: Purchase ledger Control A/C Dr
Discount Received A/C Cr

Cash,Cheque,Bill payable: Purchase ledger Control A/C Dr
Cash,Bank Bill payable A/C Cr

Contra: Purchase ledger Control A/C Dr
Sale ledger Control A/C Cr
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)

Note™ -Individual, List, People 00008 0063:q:00qE:qp:05E SeAE:ic8edE:3mn
oBrjCie0qC:OfgCqopSe
-Control vooo:a€ Control ¢oo[gEquods
-Day Book so0p8:000:0p89m:0q€ Individual & Control s600c3:058

GEaec

Example :

"Mr .A" want to prepare total Account in his book for the month of June .
This balances ware extracted from the books of Mr.A at I-June. Debtors Balance of
sales ledger was £ 5200 and Creditors Balance of purchase ledger was £ 3900.

The following transactions took place in the month of June-2009.

f

Cash sales 25400
Cash purchase 13050
Sales on credit 146520
Credit sales returns 2560
Purchase on credit 167580
Credit purchases returns 3012
Discount Allowed 880
Discount Received 560
Cash Receipts 131150
Bills receivable 1200
Cash payments 153808
TS Payane BA
Bad debts written off 1350

At 30-June-Yr2009 the Debtors and the Creditors Balance were £13580 and £T580.
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Required
Prepare the Purchase Ledger Control and Sale Ledger Control accounts for June
2009 in the book of Mr.A.

Answer
Dr Purchase Ledger Control Account Cr
7 %
Purchase return 3012 Balance b/d 3900
Discount Received 1560 Creditor Purchase 167580
Cash Payment 153808
Bill payable 9520
balance ¢/d 1580
_1T1480 171480
Dr Sale Liedger Control Account Cr
£ i
Balance h/d 5200 Sale return 29060
Credit Sales 146520 Cash Receipt 131150
Discount Allowed 1880
Bad Debt 1350
Bill Receivable 1200
balance ¢/d 13580
_151720 151720
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Correction of Error & Suspense Account
Two type of error

(I) Error not effect on Trial Balance (Trial Balance o3oc8§cScocornsgo:)
() Error of Omission (cqoyf§eoonsen:)
(b) Error of Commission (esl€:05¢n:098:000m3¢02)
(c) Error of Principle (odlsen:og8icomsagonlrading P/L o3€ag8:qen03
B/S opCen:03:600035¢0:)
(d) Compensating error (sslg§sacvéegeoconsaen:)

(e) Complete reversal of entry (size efp8:g§o3&gé:) (jeor JIg8)
(f) Error of Original entry (o3&:0on§igmiog€icamanyn)

(2) Error effect on Trial Balance (Trial Balance o3c38c5cecoonsagn:)
(g) Error of duplication (e06E:038:q050[qod3¢[gEx 0onienzogliges)

Trial Balance o3c8803eocommeiypiediedoionndon Suspense A/ (voncSorqts)
gédebHCiopdaophe

Suspense A/C (00dooqé:)
R temporary account in the hooks of an business to record balances to
correct mistakes or balances that have not yet been finalized.

2¢{gCqp3aR0803qpign

(o) GurconGozRARRYGE

()esborcfopi |

(o) 3a9:0%eqqeS (Dr side o ¢:c0pd00mqS Cr side ¢oaa(g§saco§fgSoonS:
6q05q})

(%) 329$089Cq3 (300058
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(a) Error of Omission (cooy$coonsayns)
Example: Purchase of goods from Mr.A , but didn't enter related accounts.

Mr. A R/C Purchsae A/C
£ 5 $ £
150 150

(b) Exror of Commission (csl&:0d¢n:09€:000035¢0:)
Example: Purchase of goods £120 from Mr.A | It is enter in the account of Mr.B.

Mr. B A/C _ MrA B/C
£ ; : _

(c) Error of Principle (¢dlsen:oé:eomeent)
Example: Purchase of Machine £500 , it is debited to Purchase A/C.

Purchase A/C Machine A/C
£ % 3 %
I E’thﬂlﬂﬁu

(d) Compensating error (ss[g§ssco§efgeocsonanynt)
Example: Telephone A/C is overcast £30 , and also overcast in Sales A/C.

Telephone A/C Sale A/C
¥ % : 5
50 50
X | | | X
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(e) Complete reversal of entry(size cpE:{u$o38:ge:) (yeor JolyE)
Example: Received of cash £15 from MrB was entered on the payment side of
the cash book and Debit to Mr.G A/C.

Cash A/C MrG R/C

3 R R N

B:i?)"ﬁiﬁ @ 15 15 @ﬂ?}:ﬂq
v (15) X (TSN

(f) Error of Original entry (o38:00n$:e0:05&:600035¢01)
Example: Goods sale of £76 to Mr.C was entered in the books as & 61.

Mr.C A/C Sale A/C
5 5 5 $
X 67 6T x

® ®

(Dr side 9038 Dr side goop8aCr side o8 Or side o o38:)

(2) Error effect on Trial Balance (Trial Balance o%c38c5cocoomanyn)
(g) Exror of duplication (e5q&:03&:9050[gp5$[8¢:)

Example: A payment to telephone bill £50 jhas not been posted to this
account,

Telephone A/C Suspense A/C
g % % %
30 a0
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Example: Payment to Insurance £ 86 , has been posted as 68.

Insurance A/C Suspense A/C
g g £ f
18 18

Example: Discount Receive £ 200 has been posted to debit side of Discount Allowed.

Discount Allowed A/C Suspense A/C
£ g g §
200 400
X 90109

Discount Receive A/C
5 [

.\[

Example: Returned of good by debtor £100, has been posted to the return inward day
book to debit side of his accounts.

Debtor A/C Suspense A/C
% % % :
X 100 | CT00)wgeq 1400
100
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Calculation of Corrected Profit

Net Profit before Correction
Profit and Loss Items,

Adjustment in Debit Entry
Adjustment in Credit Entry

Adjusted/ Corrected net profit

Calculation of Corrected Working Capital

% £
+add
Working Capital before Correction XX
Working Capital Items,
Adjustment in Debit Entry XX
Adjustment in Credit Entry

oo | ox | xx(/+

Adjusted/Corrected Working Capital -- XX
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Accounting Ratio

Liquidity and Working Capital Ratio
a) Current Ratio/ Working Capital Ratio (qp:0 com&:0005)
= (urrent Assefs
Current Liabilities

= @:l

(b) Acid test Ratio (gp:ecom8:0005)
=  (urrent Assets-Stock

CI%rmnt Liabilities
= ]

(c) Rate of Stock Turnover (qp:ocom€:0005)
= Cost of good sold
Average stock
- time
Rverage stock = Opening stock + Closing stock
2

(d) Debtor Collection (3¢ c08:005)
Debtor  x 100,369, 52, 12 =®%, days , weeks , month
Credit Sale

Credit Sale =(?) time
Debtor
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(e) Creditor Settlement (gp:oeoE:0005)

Creditor x 100,365, 52, 12 =(?) %, days , weeks , month
Credit Purchase

Credit Purchase = @ time
Creditor

Profitability Ratio (s2[go5¢pie com&:oopd)
(f) Gross Profit to sale (Margin)
Gross Profit  x 100=(2) % on sale
Sale

(g) Gross Profit to Cost of sale (Mark up)
Gross Profit x 100= % on cost
Cost of Sale

(k) Net Profit to sales (Margin)
Net Profit x 100=(2) %
Sale

Returned on Capital employed (ROCE) (4pip com€:ongd)
(i) Company
Net Profit 10 =) %
Share holder fund
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(j)Partnership
Net Profit x10= () %
Capital balance+Current balance ¢/d

(k) Sold Trader
Net Profit x 100 = %
Rverage Captial

() Sale to Capital employed

Sales =®time

Capital employed

Example: The financial accounts for the "T" Supplies for Year 3 is
summarised below. '
Profit and Loss Accounts for the year to 31 Dec Year 3

£000 £ 000
Sales 1260
(-)Cost of sales
Opening stock 100
Purchase 1100
1200
() Closing stock ~(90) (1110)
Gross Profit 150
() Expenses ~(30)

Net Profit 60
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Balance Sheets at December Year 3

£000
Fixed Assets 190
Current Hssets,
Stock 90
Bank in hand 190
Trade debtors a0
300
Current Liabilities,
Creditor (220) 40
Net Current Assets 210
Finance By,
Capital 200
Net Profit for the year 60
Drawing 10
210
Required,

Calculate the following ratios or the "T" Supplies for Year 3,correct to one
decimal place.

@) Current Ratio/ Working Capital Ratio

b) Acid test Ratio

c) Rate of Stock Turnover

(d) Net Profit to sales %

(e)Returned on Capital employed (ROCE)
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Answer;

(a) Current Ratio/ Working Capital Ratio
=  Current Assets

Current Liabilities
= 310/220 = 14:1

b) Acid test Ratio
=  Current Assets-Stock

Current Liabilities
=  210/220 = 09:1

(c) Rate of Stock Turnover
= (Cost of good sold
Rverage stock

= 1200795 = 126 time
Rverage stock = Opening stock + Closing stock = 100+30 = 95
2 2
(d) Net Profit to sales %
= Net Profit x 100= 60/1260 = 438 %
Sale

(e)Returned on Capital employed (ROCE)
= Net Profit x 100 = 607210 = 286 %
Rverage Captial(or)Closing Capital
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Final Account for Non-Trading (Non-Profit) Organization
(32|g0dedeoonsaoiaaggp: oee:sneeEa00 33 gPis:

$Og1006tieepagglt)

Non-Trading A/C
(a) Accumulated Fund (voopSe§deg)
(b) Excess of Income over expense (or) Excess of Expenditure over income

(a) Accumulated Fund o3¢pq§=acgos Statement of Affairs(opening balance
sheet) e3qupd

Formula,
[Opening Accumulated fund(capital)=Opening Hssets - Opening Liabilities]

Statement of Affairs at ...

E |3
Assets,
Cash, Bank XX
Land and building,Machinery, etc.. XX
Stock , Debtor XX
Subsription in arrears(sdodeoqq§oryses) XX
“*Rdvance(qqgoydeg) X

XX

Liabilities,
Subsription in Advance(sSoSe[orfoBoEaeg) | XX
Creditor XX
***Recrued(co:qSoySeg) x| (x)
Rccumulated Fund(captial) ~xx (send to B/S)
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(b) Income and Expenditure B/C oq:ad[gé:

()  Balance opening and closing must be ignored from Receive & Payment
R/C. Receipt datas entry to income and payment datas entry to Expense.

(i)  Fixed Assets receipt and expenditure must not be considered

(i) Arrears and Advances must not be made entry in it.

(iv)  Subscription Account must be opened and make entry to enter the
arrears and advances.

Income and Expenditure A/C for the year ended
g g

Income, ( from Bank Receivable)
Subscription XX
Restaurant/Bar Profit XX

(-)Expenditure, (from Bank Payable)
Sundry expense...
*** (Insurance)Expense XX
(+)Accrued c/d XX
(- )Accrued b/d (xx) | (xx)
Excess Income or Expenditure +/-xx (send to B/$,finance By)

00000000000000000000000000 OFC NS $0000000000000000000000000



Free for All

©

rueg)a):q Redent:njCuan (30Twc:)

Dr Subscription A/C (s808cfor:qeg) Cr
Accrued b/d (arrear,assets) X Rdvance b/d (liabilities) XX
Income & Expense (x) | Bank A/C XX
(member x rate) (5$8m0p8:qe006ggPi000d)
Rdvance c¢/d xx_| Hccrued c/d @
XX XX
4 - .
Accrued b/d xx | Advance b/d XX
(B/S- current assets) (B /S-liabilities)

cuigodopd Sale, Purchase and Stock o3clog€ Trading A/C efeorqoophe

Restaurant / Bar Trading Account for the year ended

Sales XX
(-) Cost of sales {x)
Gross Profit XX
(-) Expense (xx)

Profit or Loss +/-xx (send to Income & expenditureA/C)
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Bank A/C or Received and Payment Account for the year ended
Receipts(ege[g:) Payment(cgeora:)

Cash/Bank balance b/d  xx

All the receive of

Cash and Cheque XX
XX

All the payment of XX
Cash and Cheque
Cash/Bank balance ¢/d

Balance Sheet as at ...

Cost_|Proifor Depn: | NBY

Fixed Assets

(GEDS:CBE&H%) XX

Current Assets

Stock

Rccrued Subscription

Prepaid Expenses

Cash/Bank (receive and payment a/c)

less:Current Liabilities

Creditor or Supplies

Received in advance of subscription

Rccrued expenses XX

Working Captial XX

Finance By,

Opening Capital/Accumulated Fund XX

(+/-) Excess Income/Expense -~ (xx).
XX
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Example:
The following is a summary of the receipts and payments of Social Club for the
year ended 31 Dec Year2.
4 £
Receipts Payments
Restaurant taking (sales) 16500 Supplies to restaurant 10450
Annual subscriptions 25000 Restaurant staff wages 3000

41500 Bank Charges 160

Rent 1300

Equipment 18250

Light and heat 1250

40410

Rdditional information,
1 Jan Year 2 31 DecYear 2
g £

Equipment at valuation 13200 30250
Subscription in arrear 300 410
Subscription in advance 200 140
Accrued Rent 400 500
Accrued light and heat 10 140
Stock of restaurant 860 890
Creditors for restaurant 420 380
Cash in hand 1780 2830

30% of the expense for the light and heat and rent are to be charged to the
restaurant.
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Required

Prepare for the Social Club for the year ended 31 Dec Year2.
1) B statement for Accumulted Fund

2) Trading Account

3) Income and Expenditure

4) Subscription Account

5) Balance Sheet

Answers,
Statement of the Accumulated Fund at 1 Jan Year 2 .
i
Assets,
Equipment 13200
Subscription In arrear 300
Stock 860
Bank 1780
16140
Liabilities,
Creditors
Subscription in advance
Rccrued Ligh and heat
Accrued Rent (1090)
Rccumulated Fund 15050
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(b)  Restaurant / Bar Trading HAccount for the year ended 3! Dec Year 2

%
Sales 16500
(-) Cost of sales
Opening stock

Purchase(10450+380-420)
(-)closing stock (10380)
Gross Profit 6120
(-) Expense

Restaurant staff wages

Rent (7300+500-400)x30%

Light and heat (1250+140-10)x30% (5616)
Profit or Loss 504

00000000000000000000000000 ONW PIAS 00000000000000000000000000



Free for All

omuy ctfunian

() Income and Expenditure A/C for the year ended 31 Dec Year 2.

Income, ( from Bank Receivable) £ i
Subscription 251170
Restaurant/Bar Profit 504 25674

(-)Expenditure, (from Bank Payable)

Bank Charges 200

Rent (1300-+500-400)x70% 5180

Light and heat (1250+140-10)x70% 924

Depreciation,Equipment (13200+18250-30250) 1200  (7504)

Excess Income or Expenditure 18170

Dr Subscription A/C (s805a¢fo:qcg Cr
3 g

Recrued b/d (arrearassets) 300 | Advance b/d (liabilities) 200
2

4°
Income & Expense Bank A/C 25000
(member x rate) (5832008:q@0006gEPi00R))

Advance c/d 140 | Accrued c/d 410
25610 25610
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d Balance Sheet as at as 31 Dec Year 2.
Pro:for] NBV
Depn:
% £
Fixed HAssets
Equipment 1200 | 30250
Current Assets
Stock 890
Rccrued Subscription 410
Cash inhand 2830

4130

less:Current Liabilities
Creditor or Supplies

Received in advance of subscription
Rccrued Rent

Rccrued Iight and heat 2910
33220

Working Captial

Finance By,

Opening Capital/Accumulated Fund 15050

(+/-) Excess Income/Expense 18170
33220
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Exam Questions and Suggested Answers for Book-Keeping &
Rccounts

Question (1)
On | Jan Year 5 Mr B purchase a motor vehicle by cheque for £
9,500. He decided to depreciate it at rate of 20% per annum, using the straight

line method of depreciation. She sold the motor vehicle on 31 Dec Year T for £2,100
received In cash.

Required,
For the 3 financial years ending 31 December Year 5 , 6 and T prepare Mr B.

(@) Motor Vehicle Account
(b) provision for depreciation of motor vehicle account
(c ) Disposal Account

Model Answer to Question (1)

Motor Vehicle Account
I Jan Year Balance b/d 3500 |31 Dec Year 5 Balance c/d 93500
9500 9500

| Jan Yearb Balance b/d 3500 |31 Dec Year 6 Balance c/d 9500
9500 9500

| Jan YearT Balance b/d 9500 |31 Dec Year T Balance c/d 9500
%0 %00
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Working Note
Straight Line Method

= (original cost - scrap value ) x depn: rate %
= (£9,500 - 0 ) x 20 %
= £1.900 per annum

Annual depreciation

(b) Provision for depreciation of motor vehicle account
£ g

31 Dec Year 5 Balance c/d 1900 |31 Dec Year 5 Depreciation 1900
1900 1500

31 Dec Year 6 Balance c/d 3800 || Jan Yearb  Balance b/d 1900
|31 Dec Year 6 Depreciation 1900

3800 3800

3| Dec Year T Balance ¢/d 5700 | I Jan YearT  Balance b/d 3800
|31 Dec Year T Depreciation 1300

9100 5100

% %
31 Dec Year T Motor Ven 9500 P31 Dec Year T Provision 9100
for Depn:

Cash proceed 2100
Profit loss 1700
9500 9500

|
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Question (2)

Viper Ltd commenced trading on | January 1998, and its financial year end
is 31 December.

It was company policy to deprecitate Motor Vehicles at 25% per annum,
using straight line method and to depreciated Plant and Machinery at 20% per
annum, using the reducing balance method.

Depreciation for a full year is to be charged on fixed assets purchased in
the first half of the year, and half a year's depreciation is to be charged on fixed
assets purchased in the second half of the year.

No depreciation is to be charged in the year of sale.

On | January 1998, Vehicle A was purchased for £ 20,000.

On 31 July 1999, Vehicle B was purchased for & 30,000.

On 1 June 2000, Vehicle C was purchased for £ 40,000.

On 30 September 2000, Vehicle A was sold for £ 9,000.

On | January 1998, Plant and Machinery was purchased for £ 50,000.

On | August 1999, Plant and Machinery was purchased for £ 40,000.

Required

Prepare the following accounts in the books of Viper Ltd for the period | January
1998 to 31 December 2001:

@)  Motor Vehicle Account (8 marks)
b)  Provision for Depreciation Motor Vehicle Account (8 marks)
c)  Disposal of Motor Vehicle Account (4 marks)
(d)  Provision for Depreciation Plant and Machinery Account (5 marks)
***Please enter dates for all entries in accounts. (Total 25 marks)
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Model Answer to Juestion (2)

(a) Motor Vehicle Account

Date Particular £ Date Particular £

01-Jan-98 Motor VenhicleA 20,000 |31-Dec-98 Balance ¢/d 20,000
20,000 20,000

01-Jan-99 Balance b/d 20,000
31-Jul-99 Motor VenhicleB 30,000 {31-Dec-99 Balance ¢/d 50,000
50,000 50,000

0l-Jan-00 Balance b/d 50,000 |30-Sep-00 Disposal MVenA 20,000
01-Jun-00 Motor VenhicleC 40,000 |31-Dec-00 Balance c¢/d 10,000
90,000 90,000

01-Jan-01 Balance b/d  70,000)31-Dec-01 Balance c¢/d 10,000
10,000 10,000

01-Jan-02 Balance b/d 70,000
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(b) Provision for Depreciation Motor Vehicle Account
Date Particular % Date Particular £
31-Dec-99 Balance ¢/d 13,750 | 31-Dec-98 Depn: P&L A/C 5,000
31-Dec-99 Depn: P&L A/C 8,150
13,750 20,000

30-09-00 Disposal MVenA 10,000 | 01-01-00 ~Balance b/d 13,150
31-12-00 Balance c/d 21,250 | 31-12-00 Depn: P&L A/C 17,500
31,250 31,250

31-12-01 Balance c/d 38,150 | 01-01-01 ~Balance b/d 21,250
31-12-01  Depn: P&L A/C 17,500

38,150 38,150
(c) Disposal of Motor Vehicle Account
Date Particular % Date Particular %
30-Sep-00 Motor Vehicle™ 20,000 | 30-Sep-00 Cash proceed 9,000

30-Sep-00 Pro:Depn: MVenA 10,000
31-Dec-00 Profit & Loss A/C 1,000

20,000 20,000
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d  Provision for Depreciation Plant and Machinery Account
Date Particular £ Date Particular 3
31-Dec-99 Balance ¢/d 22,000 31-Dec-98 Depn: P&L A/C 10,000
31-Dec-99 Depn: P&L A/C 12,000

22,000 22,000

31-12-00 Balance c/d 35,600{01-01-00 Balance b/d 22,000
31-12-00 Depn: P&L A/C 13,600

39,600 39,600

31-12-01  Balance c¢/d 46,480]01-01-01 Balance b/d 39,600
31-12-01 ~ Depn: P&L A/C 10,880

46,480 46,480

01-01-02 Balance b/d 46,480

Working Note
Depreciation for Motor Vehicle
Ven A 1 Jan~31Dec 98 (£20,000 -0 )x 25% = £ 5,000 per annum x full year

Ven A | Jan~31Dec 99 | = £ 5000 pa x lyear = £5,000
Ven B 31 July~31Dec 99 (£30,000-0)x 25% = £ 1,500 p.a x 1/2 year= £3,120

Ven A | Jan~31Dec 00 (ogooplaeepl:chsdoogad§Eicon:dl)

Ven B 1 Jan~31Dec 00 = £ 1500 p.a x lyear = £1,500
Ven C 1 Jan~31Dec 00 (£40,000-0)x 25% = & 10,000 p.a x lyear = £10,000
Ven B 1 Jan~31Dec 01 = £ 71500 pax lyear = £1500
Ven C | Jan~31Dec 01 = £ 10000 p.a x lyear = £10,000
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Working Note
Annual depn: for Plant & Machinery

for £50,000 1 Jan~31Dec 98 (£50,000-0)x20% = £10,000
| Jan~31Dec 99 (£50,000-10,000)x20% =  £8,000
| Jan~31Dec 00 (£50,000-18,000x20% =  £6,400
| Jan~31Dec 01 (£50,000-24,400)x20% =  £5,120
for £40,000 1 Aug~31Dec 99 (£40,000-0)x20% x 1/2year £4,000

Jan~31Dec 00 (£40,000-4,000)x20% = £1,200
Jan~31Dec 01 (£40,000-12,200)x20% =

Question(3)
Peter prepares his accounts to 31 December each year. The following occurred
in respect of bad and doubtful debts:

Year |
The debtor balances at the end of the year totalled £ 163,200. After this
balance was extracted, Peter made the following write off.

B Smith £ 8,400

| Murry £ 4300
Rs this was Peter's first year of trading he decided to make a provision of
2% of final debtors. |

Year 2
The end of year debtor balance was £ 124,000. No bad debts were written off
and the provision of 2% of final debtors was maintained.

00000000000000000000000000 SN NS €0000000000000000000000000



Free for All

rumea)aj:q) egdonq:njcupn (30twdc:) @

Year 3

The end of year debtor balance was £ 95,600 after the forllowing debtor balance

had been written off:
S Matkin £ 700 on 1 February Year 3

On | November Year 3 a cheque for £ 4,300 was received from ] Murry in

respect of the debt written off in Year 1. On 28 December Peter received a

cheque from S Maikin for £ 700 covering the debt.

It is decided to adjust the provision to 3% of final debtors.

Required
Prepare the following accounts for the relevant years:
(@) Bad Debts (5 marks)
(b)  Provision for Doubtful Debts (8 marks)
(c)  Bad debts recovered (2 marks)
d) B Smith (2 marks)
e) | Murry | (4 marks)
f) § Maikin (4 marks)
(Total 25 marks)

Model Answer to Question (J)
(a)

Bad Debts Account
Date Particular g Date  Particular £
Year |
31 Dec B Smith 8,400 | 31 Dec Profit & Loss A/C 12,700
31 Dec | Murry 4,300

12,100 12,100
Year 3 Year 3
01 Feb  § Maikin ___100 |28 Dec S Maikin __100
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(b)
Provision for Doubtful Debts Account
Date Particular & Date  Particular 3
Year | Year |
31 Dec Balance ¢/d 3,010 |31 Dec Profit & Loss A/C 3,010
3,010 3,010
Year 2 Year 2

31 Dec  Profit&Loss A/C 530
31 Dec  Balance c/d 2,480
3,010

01 Jan Balance b/d 3,010

3,010

Year 3

01 Jan Balance c/d 2,480

31 Dec Profit & Loss A/C 388
2,668

Year 3
31 Dec  Balance ¢/d 2,868

2,868

Year 3

01 Jan Balance b/d 2,868

(c)
Bad Debts Recovered Account
Date Particular % Date  Particular %
Year 3 Year 3
31 Dec  Profit & Loss A/C 4,300] 01 Nov ] Murry 4,300

4,300 4,300

——— e ———
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(d)

B Smith Account (Debtor)

Date Particular 5 Date  Particular 5
Year | Year |

31 Dec  Balance b/d 8,400 | 31 Dec Bad Debts 8,400
(e)

] Murry ccount (Debtor)
Date 3 Date  Particular 5
Year | Year |
31 Dec Balance b/d 4300 | 31 Dec Bad Debts 4 300

Particular

| Murry Account (Debtor)

Date Particular 5 Date  Particular 5
Year | Year |
01 Nov Bad debts recovered ﬂ 01 Nov Bank A/C 4,300
(f

S Maikin Account (Debtor
Date Particular -7 Date  Particular 5
Year | Year |
01 Feb Balance b/d 700 101 Feb Bad debts 100
28 Dec  Bad debts 100 |28 Dec Bank 100

1,400 1,400
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Question( 4)
G Tone, a sold trader , extracted the following Trial Balance from his books at the
end on 31-March-Year 6.

g %
Capital 26,150
Purchase and sales 122,500 170,155
Returns inwards and Qutwards 300 100
Fixture and fitting 9,800
Motor vehicle 9,950
Stock at 1 April 2005 3,150
Wages and salaries 20,540
Light and heat 590
Bad debts 200
Rent 4950
Sundry expenses 1,515
Insurance 290
Motor Vehicle expenses 950
Provision for depreciation at | April 2006,
Fixture and fitting 2,020
Motor vehicle 3,300
Telephone 320
Discount allowed and received 500 450
Provision for doubtful debts 180
Bank balance 18,600
Drawing 5,800

POP0O000P0000000000000000¢ aﬁu R 00000000000 000000000000000

202,555 202,555




Free for All

runica)a):q Aclgdent:nicuan (3fwgt:)

Additional information, at 31 March Year 2006.

1) Stock at £ 4110.

2) Insurance prepaid £210 . Accrued Rent and telephone £320 and 110.

3) Depreciation rate 25 % for Motor Vehicle on cost and 20 % for furniture and
fitting on cost.

(4) Provision for doubtful debts to be adjusted to 3% of debtors.

Required
(1) Prepare Trading and Profit and loss Account for the year ended 31MarYear®.
(2) Prepare Balance Sheet as at 31MarYearb.

Model Answer to Question (4)

(1) Trading and Profit and loss Account for the year ended 31MarYearb

% % 3
Sales 170,155
(-) returns inwards (300) 169,855
(-) Cost of goods sold
Opening stock 3,150
Purchase 122,500

(+) return outwards (100) 122,400
(-) closing stock — (41100 (122,040)

Gross Profit 47,815
Discount Received 450
48,265
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(-) expenses

Wages and salaries 20,940

Light and heat | 590

Bad debts 200

Rent (4950+320) 5,210

Sundry expenses 1,515

Insurance (1290-210) 1,080

Motor Vehicle expenses 1,950

Telephone (320+110) 430

Discount Allowed 500

Depreciation , Motor Vehicle 2,488

Depreciation , Furniture and Fitting 1,960

Provision for doubtful debts 105 (36,628)

Net Profit 11,631

(2) Balance Sheet as at 31MarYearb
Cost Accu: depn: NBV

Fixed Assets

Fixture and fitting 9,800 4,180 9,620

Motor vehicle 9,950 9,188 4,162

19,750 9,968 9,182

0000909000000 00POOLOOHOO Hﬁ# lﬁlﬁlﬁé oo 0000000000000 0 0C R QOCCOOS



Free for All

runicoyza):q) ncf@deqt:niCuan (30twyc:) @

Current Assets

Stock 4110
Debtor 9,500

(-)Provision for doubtful debts  (289) 9215

Bank 18,600
Prepaid 210

|

32,135

(-) Creditor within one year

Creditors 4150

Accrued (320+110) 430 (4,580) 21,559
31,331

Finance By

Capital 31,500

Net Profit 11,631

(-)Drawing (9,800)
31,331
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Question( 5 )
Thames and Severn are in partnership sharing profits and losses in the ratio 2:3

respectively. The following Trial Balance was extracted from the partnership books
at 31 December 2002:

Ir & Cr £
Freehold premises 300,000
Motor Vehicles at cost 50,000
Fixtures and fittings at cost 18,000
Plant and machinery at cost 80,000
Capital, Thames 1 January 2002 209,000
Capital, Severn | January 2002 163,000
Drawings , Thames - 19100
Drawings , Severn 36,900
Rent 28,000
Salaries 101,000
Carriage In 4700
Carriage Out 8,950
Returns In 9,500
Purchases 609,000
Sales 1,005,000
Insurance 9,300
Light and heat 1,800
Trade debtors 126,000
Trade creditors 91,000
Bad Debts 1,800
Teleplone 8,000
General office expenses 15,350
Motor Vehicles expenses 9,900
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Interest on Bank loan 3,150
Provision for doubtful debts | January 2002 3,100
Discount Allowed &Discount Received 8,300 1,800
Bank Loan 15,000
Cash at Bank 66,950
Stock at | January 2002 67,900
Provision for depreciation | January 2002,
Motor Vehicle 10,000
Plant and machinery 30,300
Fixtures and fittings 3,600

1,592,400 1,592,400

The following additional information has been made available in respect of year
ended 31 December 2002:
(1) Depn: is to be provided at the following rates using the straight line method.
Fixtures and Fittings 10% per annum
Plant and Machinery 15% per annum
Motor vehicles 20% per annum
(2) The provision for doubtful debts is to be adjusted to 2% of debtors.
(3) Thames is to receive a salary of £25,000.
(4) The partners are to receive interest at rate of 5% per annum based on the
balance on their Captial Accounts at 1 January 2002.
5) Closing stock was valued at £58,900.
6) There were no balances on the partner’s current accounts at 1 January 2002.
1) Accrued charges at 31 December 2002 were :

Salaries 1,000
Interest on loan 3,150
Motor vehicles expenses 600
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Telephone 550
Light and Heat 450

(8) The prepayments at 31 December 2002:
Rent 4,000
Insurance 50

Required, |

(a) Trading, Profit & Loss Account and Appropriation Account for the year ended
31 December 2002. (20 marks)

(b) The partner’s currnet accounts, in coloumner format, in respect of the year
ended 31 December 2002. ( 5 marks)

(Total 25 marks)

Model Answer to Question (5]

(a) Trading, Profit & Loss Account and Appropriation Account
for the year ended 3! December 2002
£ £
(a) Gross Profit 312,800(Gross Profitcs s>cfs)
Net profit for the year 147,530
(-) Interest on Capital -
Thames ( 209,000x 5%) 10,450
Severn ( 163,000x5%) 8,150  (18,600)
() Partners Salary
Thames (25,000)
Residual Pofit 103,930
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() Share of profit (2:3)

Thames ( 103,930 x 2/5) 41 512

Severn ( 103,930 x3/5) 62,358  (103,930)
(b) | Partner’s Current Account

%

Balance h/d ' Balance b/d Nil
Drawing Interest on Captial 10,450 8,150
Balance c¢/d Partner salary 25,000 |

Share of profit 4] 572 62,358

17,022 | 70,508
| | Balance b/d 57 322 32,008

Question ( 6 )
XYZ plc has an authorised share capital of 300,000 10% preference shares of £2
each and 450,000 ordinary shares of £2 each.

The following are the balances in the books at 31 October 200T:

Preference shares fully paid 450,000
Ordinary shares fully paid 600,000
Stock 499,200
Provision for doubtful debts at 31 October 2006 1,000
Motor vans at cost 180,000
Furniture and equipment at cost 150,000
Debtors 236,000
Insurance prepaid 10,000
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Bank overdraft 6,000
Profit and Loss account balance at 31 October 2006 114,000
Provision for depreciation on motor vans at 3! Octber 2006 42,00(
Provision for depreciation on furniture and 31,500
equipment at 31 October 2006
10% debentures (repayable 2021) 150,000
Creditors 186,000
Cash 5,000
Premises 645,000

Additional information:

No entries have been made in the books for the following:

1) motor vans are depreciated at 10% per annum on cost

2) furniture and equipment was valued at £105,000 on 31 October 2001

3) provision for doubtful debts was increased by £2,200 at 31 October 2001
(4) interest on debentures is due but unpaid

Rfter adjusting for items 1-4 above , the net profit before appropriation was
£96,000.
The directors are proposing:

(i) the preference share dividend is to be paid in full

(i) a dividend on the ordinary shares of £0.20 per share.

Required

Prepare a Balance Sheet at 31 October 2007. Show clearly the value of net current
assets and total shareholder's funds.
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©

Model Answer to Question (6)

Working Note (1)
Motor Van depereciation = £180,000 x 10% = £18,000

Working Note (2)
Furniture and equipment depreciation

Original Cost 150,000
Rccu:depn: (37,500)

112,500
Depreciation (1,500)

Valued at 310ct2007 105,000

Working Note (3)
Provision for doubtful debts at 31 October 2006

Balance ¢/d 3200 Balance b/d 1,000
Increase 2,200
3,200 3,200

Working Note (4)
Rccrued debenture interest = £150,000 x 10% = £15,000

Working Note (5)

Preference share ,final dividend

per annum (450,000 x 10%)= 45,000
interim dividend nil
Proposed dividend 45,000
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Working Note (6)
Ordinary share final dividend

£ﬂ 20 per share x No of share
£0.20 x £600,000/ £2
£0.20 x 300,000
£60,000

1l

Working note (7)
Appropriation Account 3
Net Profit hefore appropriation 96,000
(-) Preference share dividend (45,000)

(-) Ordinary share dividend (60,000)

Retained profit for the year (9,000)
Retained profit b/d 114,000

Retained profit ¢/d 105,000
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Balance Sheet as at 31 October 2001

- $ £ £
Fixed Assets
Motor vans 180,000 60,000 | 120,000
Furniture and equipment 150,000 45,000 | 105,000
Premises 645,000 - 645,000
975,000 | 105,000 | 870,000
Current Assets .
Stock 499 200
Debtor 236,000
(-)provision for doubtful debts (3,200) | 232,800
Cash 5,000
Prepaid insurance 10,000
141,000
less: creditor amount due within one year
Creditors | 186,000
Rccrued debenture 10% 15,000
Propose dividend(45,000+60,000) | 105,000
Bank overdraft | 6,000 | (312,000)
Net Current Assets || 435,000
Total Assets less current liabilities 1,305,000
less: creditor amount due more than one year
Debenture (150,000)
1,155,000
Finance By |
Ordinary Share 600,000
Preference Share 450,000
Retained profit ¢/d 105,000
1,155,000
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Question(7)
] Davenport extracted the following Trial Balance from his books at the end of the
financial year, 31 March Year 12.

% g

Purchase of raw materials 262,000
Heating and lighting 16,500
Factory wages 85,000
Repairs to plant and machinery 8,700
Rent and rates 20,000
Administration salaries 14,000
Selling expenses 6,000
Sales 496,000
Returns Inwards 9,000
General office expenses 1,400
Carriage outwards 1,600
Stocks at 1 April Year 11:

Raw materials(at costs) 23,000

Work in process(at production cost) 15,000

Finished goods (at market value) 24,500
Provision for unrealised profit 3,000
Capital 476,000
Freehold premises at cost 420,000
Plant and machinery at cost 66,000
Provision for depreciation on
plant and machinery at 1 Apr Yearl! 18,000
Debtors 21,000
Creditors 35,900
Balance at bank 12,800

1,028,500 1,028,500
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In addition, the following information was available.
(1) Stock at 31 March Year 12,
Raw Material 26,000
‘Work in Progress 11,600
Finished goods (at market value) 29,800
(2) The provision for unrealised profit is to be adjusted to £3,200.
3) Depreciation is to be provided on plant and machinery at 15% on cost.
4) Rent and rates prepaid £4,000.
5) Accrued due for heating and lighting £2,000.
(6) 75% of rent and rates, 80% of lighting and heating and 20% of general office
expenses are to he charged to manufacturing.
(1) The market value of goods produced during the year ended 31 March 12
is £413,500 .

Required : Prepared for ] Davenport the:
(a)i) Manufacturing Account for the year ended 31 March Year 12. (19 marks)
(i) Trading Profit and Loss A/C for the year ended 31 March Year 12.
(h) Prepare a Balance sheet at 31 March Year 12. (6 marks)
(Total 25 marks)
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Model Answer to Question (7)

(1) Manufacturing Account for the year ended 31 March Year 12
% %
Direct Material Cost(cost of sale)
Opening stock of Raw Material(R.M) 23000
(+) Purchase of Raw Material 262000
(+) Carriage Inward of RM :
(-) Closing Stock of Materal 26000) 259000
Direct Labour Cost/Wages 85000
Prime Cost (0058:00§0730805) 344000

Factory Overhead/Production Overhead
light & heat(16500+2000)x80% 14800
Repairs to plant and machinery 8100
Rents and rates(20000-4000)x15% 12000

General office expenses 1480

Depn: on Machinery(86000x15%) 12300 49880
Production/Factory Cost 393880
(+) Opening Work in Process(WIP) 15000
(-) Closing Work in Process(WIP) (11600) 3400
Cost of Goods completed 397280
(+) Manufacture Profit (413500-397280)
Market value of finished Goods produced 413500
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(i)  Trading Profit and Loss Account for the year ended 31 March Year 12
f g
Sale 496,000
(-) Sale Return (5,000) 491,000
() Cost of Sale
Opening stock of Finished Goods(EC) = 24,500
(+) Cost of EG produced (from manuf: A/C) 413,500
() Closing Stock of Material (25,800 (412,200)
Gross Profit 18,800
(+) Incomes,Manufacture Profit 16,220
95,020
(-) Expenses _
Rdministration salaries 14,000
Selling expenses 6,000
Carriage outwards 1,600
Provision for unrelaised profit increasing 200
(opening 3000- closing 3200)
light & heat(16500+2000)x20% 3,100
Rents and rates(20000-4000)x25% 4,000
General office expenses 9,920 (35,420)
Net Profit | 99,600
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(111) Balance sheet at 31 March Year I2.
Cost Pro:for  NBV
Depn:
Fixed Assets
Freehold premises 420,000 - 420,000
Plant and Machinery 86,000 30,900 55,100

506,000 30,900 475,100
Current Assets

Closing Stock,
Raw Material 26,000
WILP 11,600
Finished Goods 29,800
(-Junrealised profit (3,200) 22,600
Debtors 21,000
Prepaid Rent and Rates 4,000
Bank 12,800
98,000
Current Liabilities
Creditors 35,500
Accrued lighting and heating 2,000 (37,500) 60,500
535,600
Financed By
Capital 416,000
(+) Net Profit 59,600
939,600
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Question( 8)
The Treasurer of the Four Rivers Golf and Social Club extracted the following

summary of receipts and payments from the club's bank statements in respect of
the year ended 31 December 2002.

Receipts - Payments %
Restaurant takings 95,000 Kitchen and restaurant

staff wages 26,000
Members subscriptions 60,000 Kitchen equipment 5,000

Life membership scheme 2,600 Food supplies for restaurant 46,500
Rdministrative staff wages 21,000

Sundry expenses 900
Bank charges 650
Marketing and advertising 3,500
Insurances 2,100
Light and heat 1,000
Gifts 150
Travelling expenses 1,100
Rent 45,000

Other information:
Year ended 31 December

2001 2002

£ g

Kitchen equipment at valuation 8,100 12,000
Cash in hand 215 420
Cash in Bank 1,397 m
Subscription in arrears 2,600 3,100
Subscription in advance 150 300
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Administrative staff wages accrued - 45(

Light and heat accrued - 20(

Insurances prepaid 200 50(

Creditor-food supplies 1,800 3,900

Stock- food supplies 600 800

Notes: -

(1)  The life membership scheme was intorduced on 1 January 2002, with 4

(@)

members each paying £650. It was agreed that life membership fees would
be transferred to the Income and Expenditure Account in equal amounts
over a five year period.

One third of the cost of rent, insurances and light and heat related to the
restaurant.

Required
Prepare for the Four Golf and Socail Club:

@
(b
c
(d

a statement of the accumulated fund at 1 January 2002. (3marks)
the Restaurant Trading A/C for the year ended 31 Dec 2002. (8marks)
the Income and Expenditure A/C for the year ended 31 Dec 2002.(10marks)
a calculation, showing workings, of the balance of cash at bank at 31 Dec
2002. (4marks)
(Total 25 marks)
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Model Answer to Question (6]

(a) Four Rivers Golf and Social Club
R statement of the accumulated fund at | January 2002
Bssets (1 Jan 2002 ) % %
Kitchen equipment 8,100
Cash 219
Bank 1,391
Subscription In arrears 2,600
Stock- food supplies 600
Insurances prepaid 200
13,172

Liabilities( 1 Jan 2002 )
Food supplies for restaurant 1,600
Subscription in advance 150 (1,550)
Opening Accumulated Funds 11,222 ?
Working Note (1)

Creditor Food Supplier A/C
Bank 46,500 Balance b/d 1,800

Balance ¢/d 3,900 Purchase 48,600

(restaurant trading)
50,400 50,400
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Working Note (2)
Subscription A/C (income)

Rrrear b/d 2,600 Rdvance bh/d 150
I & E (expense) Bank 60,000
Advance c/d 300 Arrear c¢/d 3,100
63,250 63,250
Working Note (3)
Kitchen Equipment A/C

Balance b/d 8,100 Depn; expenses
Bank 5,000 Balance c/d 12,000

13,100 13,100
Working Note (3)

Life membership scheme
I & E (income) 520  Bank 2,600
(2600--5)
Balance ¢/d 2,080
2,600 2,600
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(b) The Four Rivers Golf and Social Club

Restaurant Trading A/C for the year ended 31 Dec 2002
£ £

Sales 95,000

(-) Cost of sales

Opening Stock-food 600

Purchase 48,600

(-)closing food stock (800) (48,400)

Gross Profit 46,600

(-) Expense

Kitchen and restaurant staff wages 26,000

Insurances (2100+200-500)=1800 x1/3 600
Light and heat (1000+200)=1200 x1/3 400

Rent (45000 x 1/3) 15,000

Depn: of Kitchen equipment 1,100 (43,100)

Restaurant Profit 3,500 o

(c) The Four Rivers Golf and Social Club

The Income and Expenditure A/C for the year ended 31 Dec 2002

% %

Income, ( from Bank Receivable)

Subscription 60,350

Restaurant/Bar Profit 3,500

Life membership scheme 520 64,370
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(-)Expenditure, (from Bank Payable)
Rdministrative staff wages(21000+450) 21,450

Sundry expenses 900
Bank charges 650
Marketing and advertising 3,500
Insurances (1800 x 2/3) 1,200
Light and heat (1200 x 2/3) 800
Gifts 150
Travelling expenses 1,100
Rent (45000 x 2/3) 30,000  (60,350)
Excess Income 4,020
(d) Receipts and Payments A/C (cash+bank)
g %
Balance b/d 1,612 | Total Payments 153,500
(215+1397)
Total receipts 157,600 | Balance c/d (cash) 420
| Balance ¢/d (bank) 5352
159,272 159,272
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Question( 9)

K Limited 's ,His business has deteriorated in the last year, when the profit
percentages have remained constant.
They have provided you with the following information.

Profit and loss Account for the year ended 30 September 2006.
Year 2006 Year 2005

£ 000 £ 000
Sale 6,150 5,990
(-)Cost of sale (3,850) (4,000)
Gross Profit 2,300 1,950
Sundry expenses (305) (280)
Profit before interest 1,995 1,670
Interest paid (100) (95)
Net Profit 1,895 1,515
Balance Sheet at
Year 2006 Year 2005
Fixed Assets
Land and Building 110 100
Motor Vehicle 450 430
1,160 1,130
Current Hssets
Stock 1,054 905
Debtor 1,450 850
Bank in hand 125 400
2,629 2,155
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Creditors within one year

Creditors 960
Bank Overdraft 100
1,260
Net Current Assets 1,369
Total Assets less current liabilities 2,929
Finanace By
Captial 634
Net Profit 1,895
2,529
Required,

1,100

1,100
1,055

2,185

610
1,515

2,185

Calcualte the following ratios for the year ended 30 September 2005 and Year

2006, two decimal places.

@) Current Ratio

b) Acid test ratio (quick ratio)

¢) Stock turnover (use closing stock)

Model Answer to Question (9)

Year 2006
(@) Current Ratio =2629/1260
2.09: 1
(b) Acid test ratio =1515/1260
125 : 1

d) Trade debtor peroid (to the nearest whole day)
e) Trade creditor peroid (to the nearest whole day using cost of sale)

Year 2005
=2155/1100
196 : |

=1250/1100
.14 1
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(c ) Stock Turnover =3850/1054 =4000/905
3.65 times 442 times

(d) Trade debtor period  =1450/6150 x 365 =850/5950 x 365
86 days 52 days

(¢) Trade creditor period  =560/3850 x 365 ~ =1100/4000 x 365
93 days 100 days

Question(10)

The following balances were of the books of Great Founding at | December 2006.
Dr Cr
L %

Sales Ledger Control Account 282,949 1,100
Purchase Ledger Control Account 1,450 268,950
Provision for doubtful debts balance was £ 9850.

The following is a summary of transactions for the month of December 2006.

%
Cash Sales 21,000
Sales on credit 135,100
Purchases on credit 99,900
Credit sale returns 3,220
Credit purchase returns 1,122
Cash received from debtors 122,546
Payment to creditors 91,869
Discount Allowed 2,100
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Discount Received
Bad debts written off

Debit balances in sale ledger

transferred to purchase ledger
Cash refund to credit customer

1,300
1,450
900

336

At 31 Dec 2006, the following balances were in the purchase ledger and sale ledger

Control Account.
Debit Balance ; Purchase Ledger
Credit Balance: Sale Ledger % 1394

£ 2800

The Provision for doubtful debts was to be adjusted to 3 % of the debit balances in
the sale ledger account at 1 December 2006.

Required:

(a) Prepare a Sales Ledger Control Account

(b) Prepare a Purchase Ledger Control Account

(14 marks)
(9 marks)

(c) Provision for doubtful debts Account at 31 Decemeber 2006. (2 marks)

Model Answer to Question (10)

(Total 25 marks)

(a) Sales Ledger Control Account
Date Particular &£ Date  Particular g
01-12-06 Balance b/d 282,949 01-12-06 Balance b/d 1,100
31-12-06 Credit Sales 135,100 31-12-06 Sale Returns 3,220
31-12-06 Cash refund 336 31-12-06 Bank 122,546
31-12-06 Balance c/d 1394 31-12-06 Discount Allowed 2,100
31-12-06 Bad debts 1,450
31-12-06 Contra 900
31-12-06 Balance c¢/d 289,063
420,319 420,379
01-01-07 Balance b/d 289,063 01-01-07 Balance b/d [,394
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(b) Purchase Ledger Control Account
Date Particular £ Date Particular £
01-12-06 Balance b/d 1,450 01-12-06 Balance b/d 268,950
31-12-06 Purchase returns 1,122 31-12-06 Credit purchased 59,900
31-12-06 Discount Received 1300 31-12-06 Balance c¢/d 2,800
31-12-06 Bank 51,869
31-12-06 Contra 900
31-12-06 Balance ¢/d _ 269,009
331,650 331,650
01-01-0T Balance bh/d 2,800 01-01-07T Balance b/d 269,009
Provision for doubtful debts Account
Date Particular £ Date Particular 5
31-12-06 P & L (income) 178! 01-12-06 Balance b/d 9,850
(decrease)
31-12-06 Balance ¢/d 8,069
(268950 x 3%)
9,850 9,850

01-01-07 Balance b/d 8,069

Question( 11)
The Trial Balance of 31 July 2009 did not agree . A suspense Account was
created in order to achieve a balance.
Draft Final Accounts were produced from this Trial Balance and it showed
there was working capital of £27550.
The following items were discovered, |
(i) A cheque for £1,000 received from Mr.C had been credited to the account
of Mr.B.
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ii)  The purchase of new motor vehicle on 1 July 2009 for 1,500 had been
osted to the Stock Account.

sale of £679 to H Golf had not been ﬂnsted to his personal account.
R cheque received from Mr.E for £386 has been entered in the Cash Book
but had been posted to Mr.E Account as £368. _
(v)  Discount allowed of £67 had been credited in error to the Discount Re
ceived Account.
(vi) Bank charges of £690 had been entered in the Cash Book but the other

half of the entry had not been completed.

(vii) Sales of £342 to Mr Tom had been posted correctly to the Personal A/,
but entered in the Sales Account as £324.

omy cflunfund

i)
1v)

quired

e Suspense Account.

(b)

() A statement showing the

Model Answer to Question (I1)
(a) Journal

Re
(a) ]lgtlllrnal entries, without narrative or dates, to correct above items .

Dr  Cr
% %
() MrB A/C 1,000
MrC A/C 1,000
(i) Motor Vehicle A/C 1,500
Stock A/C 1,500
(i) H Golf A/C 679
Suspense A/C 679
(iv) Suspense A/C 18
ME A/C 18
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(v) Discount Allowed b1
Discount Received b1
Suspense A/C 134
(vi) Bank Charges A/C 630
Suspense A/C 690
(vii) Suspense A/C 18
Sales A/C 18
(b) The Suspense Account
N Y . YN
Balance b/d 1,461 H Golf A/C 619
MrE A/C 18 Discount Allowed b1
Sales A/C 18 Discount Received b1
Bank Charges A/C 630
1,503 1,503
(c) Corrected Working Captial
Dr (+)|Cr (-)| Net
z % 3
Before corrected working capital 21,950
(i) MrB A/C 1,000
MrC A/C 1,000
(i) Stock A/C 1,500
H Golf A/C 619
(iv) Mr.E A/C 18
16791 2518 (839)
Corrected working capital 26,111

Note*** Working Captial (Dr) = Current Assets(Dr) - Current Liabilities(Cr)
That why, Dr Adjustment (+)
Cr Adjustment (-)
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~ (Question(12)

Silly and T Merry are in partnership, sharing profit and losses in the ratio
4:1 respectively.

The Balance sheet of the partnership at 31 December 2002 was as follows.

Silly and T Merry
Balance Sheet at 31 December 2002
% £ 5
Fixed HAssets
Freehold premises 125,000
Motor Vehicle 38,000
Plants and Machinery 40,000
Fixtures and Fitting 12,000
215,000
Goodwill 20,000 235,000
Current Assets
Stock 12,500
Debtor 19,000
Bank 1,500
39,000
Amounts falling due within one year
Creditors 15,000
Bank Loan(repayable June 2003) 6,000 (21,0000 18,000
293,000
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Finance By

Parner’s Capital Accounts

Silly 160,000

T Merry 90,000 290,000
Parner’s Current Accounts

Silly 1,000

T Merry 2,000 3,000

293,000

Silly and T Merry agreed that, from 1 January 2003, profits and losses would be
shared in the ratio 3:1 respectively. It was also agreed that certain assets would be
re-valued.

£
Freehold premises 140,000
Motor Vehicle 34,000
Fixtures and Fitting 10,000
Stock 11,900
Goodwill 44000

It was further agreed that goodwill should no longer appear as an asset in the
partnership books.

Required

Record the above in the books of the partnership by preparing the:

(a) Revaluation Account (6 marks)
(b) Partner's Capital Accounts, in coloumnar format (5 marks)
!c] Goodwill Account (3 marks)
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(d) Balance Sheet of the revised partnership at 1 January 2003 (11 marks)
(Total 25 marks)

Model Answer to Question (12)

(a) Revaluation Account
$ 3
Motor Vehicle 4000 | Freehold premises 15,000
(38,000 to 34,000) (125,000 to 140,000)
Fixtures and Fitting 2,000 | Goodwill 24,000
(12,000 to 10,000) (20,000 to 44,000)
Stock 600

(12,500 to 11,900)

Revaluation Profit(4:1)old ratio
Silly (4/9) 29,920

T Merry (1/5) 6480
39,000 39,000
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(b) Partner's Capital Accounts
g £ g g
Particular Silly T Merry Particular Silly T Merry
Goodwill A/C 33,000 11,000 Balance b/d| 160,000 90,000
Balance c/d 152,920 85,480 25,920 6,480
185,920 [ 96,480 185,920 96,480
(c) Goodwill Account
% £
Balance b/d 20,000 New Partner Captial
Revaluation A/C 24,000 [Silly (3/4) 33,000
T Merry (1/4) 11,000] 44,000
44,000 44,000
(d) Silly and T Merry Partnership
Balance Sheet of the revised partnership at | January 2003
% £ g
Fixed Assets
Freehold premises 140,000
Motor Vehicle 34,000
Plants and Machinery 40,000
Fixtures and Fitting 10,000 224,000
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Current Hssets

Stock 11,900
Debtor 19,000
Bank | 1,500
38,400
Bmounts falling due within one year
Creditors 15,000
Bank Loan(repayable June 2003) 6,000 (21,000)
17,400
241,400
Finance By
Parner’s Capital Accounts
Silly 152,920
T Merry 85,480 238,400
Parner’s Current Accounts
Silly 1,000
T Merry 2,000 3,000
241,400
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